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®

Organisation (WHO)
. has approved th . , .
Which of the following hasIZIIE):velopedei':l ?S e of an‘mpox’ vaccine (MVA-BN), for the first time in

Bh i
arat Nuron, an Indian pharmaceutical company

2 sq s
(3) Boston Nitric, an Us pharmaceutical company

(@)  Bavarian Nordic, a Danish pharmaceutical company
(4)

Belgian NOVO, a Belgian pharmaceutical company

B’)" {5 oy
¢ ;; ST 0 (WHO) St nts 80rm 008 2024 68 2.8 DHarEy Seeiso (MVA-BN) (mpox vaccine)
OIPHON0D. & 800 :BSE D8 8 o9 3208 ?

@) P8 Smoes, a8 g FOYRrPBES LoD
@) &GS IS, o8 US FropirdsS Bond

B) BHS SFEE, ¥ AR FoyrdES Sond
@) BYHS P, &8 BYAHS FoYRrSES Lol

2. Which of the following statements are true in relation to the General Elections - 2024 to the Lok Sabha ?
A The election schedule was announced on 20 February 2024 by the Election Commission of India.
B.  The first phase of election was held on 19th April 2024.
C The voting in Telangana was held on 13th May 2024.
D. In this election, for the first time, vote from home facility was introduced to women.
Choose the correct answer : p-
(1) CandDonly @  BandConly
3 A,CandDonly (@  AandBonly
2024 &8558 PEYBE QYD Sonofod Bod a)gga:é@és A 2.y ?
A gr88 Qe dozbo 20 22050 2024 ToH dYEO RS (HESBoDob.
B. 199G 2024 7rtH I08& DS dQ¥en adreow.
C. 1332024 a°to Boorrss® L80R abhod.
D, Bos®Fm & IPEOE Lirgel sod Hob £.60 IO HPArR) S§oT.
BB BEGPIRY. DOHE XD
(1) CoBosk> DR () BB CEPED
() A, C00%0 DEFESD @) A0 BIPED
3.

Who among the following was conferred with Major Dhyan Chand Khel Ratna Award, 2023 in badminton ?
(1)  Chirag Chandrashekhar Shetty (2)  Sheetal Devi

©)] Ojas Deotale 4 PV. Sindhu

(8od a°§e3's D508 2023 5 J0HBYR iy al‘g&&oéoﬁés w6 orgS S0l BS 88 TG B0 HOAOE ?
1y oooh Sos3wd 3§ @ 8530

@ 2.9 dogd

X
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Which of the foligwi
) Wing statements ap, . ) .- <2024 held in Goa are correct ?
A Manideep Jetta — about India Open Shooting Competitions

two gol
B.~ C.Pranathi won one gold medals,

gold and one gj] //
g i‘rs%lankar won one gold meda] wvermedals. Cor ‘ &
3 Cita Karar earned ’ . . s ) y
Choose the —— “E:efold medals in both the 10 m Air Pistol Junior Women Individual and Team categories.
1 ABCandD '
3 AandB only (20 AandD only

808 & 4) A,BandConly
Rt =0A% molase 28 SrBof DEden 2024 & $000G0H JJHD D ?

B
C.  B.3088 &8 ayomms DEN ROk
c .

©0)8 5°0°5 10 L0658 dowb ByseSess
RODOB. .

VBN 2352080 DOTEKoSw
1) A,B,C&8c»D
@) ASBA» B XD

e QAHE Solree SBIE &OA 5> Beonben BoBoBEE wom He8so

) AS0cho DSRESD
@) __A, B850 CEm(E

A new tick-born virus called “Wetland Virus’ has Béén discovered in:

(1) Indonesia (2)  Ethiopia -(3)  Bhutan 4) China
‘D88 Jo F6T’ (Wetland Virus) e ool o 8 85-5°5) 3555 a5 SRS |
1) =0&nse (2 =8IRS @) S @ B

The capital of which of the following is renamed as’Sn Vijaya Puram’ ?

(1) Andaman and Nicobar Islands (2) -Lakshadweep Islands

(3) SriLanka (4)  Bali Islands

& 808 BS° B Tragr SHOPQ) G Dasch HBO' r HIE TKo8Bew0 TFd ?
(1)  ©okLrS Ho00km Aeterl Biren (D) oEAD bgdren

@) &oos @ b bren

Which of the following statements related to the 16"*? Finance Commission is/ are true ?
A.  Itwas constituted in December, 2023 with Arvind Panagariya as it's Chairman.
ed as the secretary of the 16" Finance Commission.

B.  Ajay Narayan Jha was appoint .
C leleyrecom):ne 1{2 ations (E)fpthe 16th Finance Comnussion covers a period of 5 years from April 2025 to

March 2030.
Choose the correct answer : C B) Aonl (4 Bonl
(1) AandConly @ ABand ’ ’

5D sy ?
D03 4 2) 0@36 o6/
163 &85 $ozrd8 $Sowokod (Bob 5% Tl 5o e o wthes
A 08908 HearrdasT FHST 2000 2023 s oW

< Bl 40508 5855 A0S0 wbAOS.
B.  eoadd rorcdhdi Syeio 16 @9(@9 52075 4y08 £78) 2030 SBKH Ko 5 SoSEHT e SGJom.
C 163 g8 sos drce A

SO BErerard) Do BaswI | 5 509 C B) ASHSEDH . @) BImEDH
1) A8 C S| @ &

3 . P.T.0.
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India launched it's National Blockchain Framework known as:

(1)  Agastya - Blockchain Technology Stack
(2)  Paripoorna - Blockchain Technology Stack
(3  Vishvasya- Blockchain Technology Stack
4)  Samagra- Blockchain Technology Stack

B 503 (Dol wdab 8BS (o B Be0RRL |

1 o - ¢S Benod I8
@ g - 53 Bsyed I
@) DAy - epEBS Benod T8

@ Js - ep8BS Bsnod I8
tnership with

Government of India started a new Technology Security Initiative’ (TSI) to strengthen strategic par
which of the following countries ?
(1) Japan (2) Australia.

) The United States

(3) The United Kingdom
8o e 5 B8t TEiEs IR o6¥ho Babed Fros Bed

Security Initiative - TSI) &0 (8odoRot

o &8 FoS8E Pz T

(Technology

@ @RS (A

@) owB8E 8ofico @

During the Indian Prime Minister’s visit to Singapore ii;zgfséiatember 2024, MoUs were signed between two countries
in the following areas :

B. Dlgltal technologies

A.  Bio-technology
D. Semiconductors

C Health and medicine

Choose the correct answer :
(1) AandDonly ) B,CandD only

3y ABCandD @) A,Band Conly
23005 2024 &5, grss [HEPd S0 oKD K)éegéoéé‘s grore ot Bero gy 8 8od Bomos® deSeN

2.8)0TPeD BB :

A oFrBEwd B. &aeaé Berpden
C  eBrgo S0 S50 D. ?og)néocie%@
e b 235PE050 DOTHE KW : ~
(1) A DIrED @ B, Ciobo D EmE
(3 AB,CX0D @) A, B0 CEPED
The Indi : e
. = im;lnt;rnatmnal Maritime Dispute Resolution Centre (IMDRC) was launched at:
@) ; orbandar () Visakhapatnam @) Goa 4)  Cochin
gr5Ba% ©oSTBAD SXVE D SRS
0§ s 2% Bolgo (MMDRC) a8 [@Bofosebod :
% ®) Dvwdeo @ @ 98
)

X 0

P4
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DEXXR-48S’ (Ideas-4LiFE) DS (F50oDod ?
(B 2TEE00 e dis530 Q) Soketieony Sty #5539
B)  PTSR NEE dsi530 @) o208 B 45539

Government of India launched ‘Ideas-41iFF’ portal for inviting ideas gelated toprodiets and Services, Which
induce behavioural changes related to :

1) Environment-friendly lifestyles () Woman-friendly lifestyles
@)  Old-age-friendly lifestyles (4  Corruptionresisting lifestyles ,
grod (980&0 % 8op 5 BSET S (HB00T a8HeH, Hveb Bopofodd esbSSw 3R0STeI8

Carsiderihe fo.u(’Wing statements about the Indiav;Middle East-Europe Economic Corridor (IMEC) :
A.  Ttcomprises of an Eastern Corridor connecting India to the Gulf region and a Northern Corridor connecting

the Gulf region to Europe.
B. It will include air routes along with roa t;;émport routes only.
Choose the correct answer £{ 3
(1) BothAandB )  Neither AnorB
(3) Aonly (4 Bonly

20805 DES HY-0PES JETeNE $P8me5 (IMEC) % $020509 808 argaged (({&rohio :

A =B grEEETR) KS) (o8 K0 &y 5208 0k K (Froard)) ArsHS edodogrso S ags
OEH 0N aHB. - |

B. @b J5rd Srmpeos® e 85 Sarer Srooss ErEd $0n donos.
{0 23570200 DOHE W : U a4

@) ASBcs»BBokr 12 AoB0sH BBokr s°9)
B) ASHED 4 Baw@D

Which of the following statements about lBliI;d:E;e' is/are true?

A.  Itisinnovated by a teenager from Telangana. :

B. Itis recognised by the imaGen Venture%éne of the remarkable innovations.
C.  Theinnovator is the founder of “AllienIrmovations’.
Choose the correct answer :
(1) AandConly () Aonly »
(3) AandBonly @ ABan
806 TS B of o8 HowoHod B/ 2By ? )
A 82D Boorred Bobd el o8 SR BRI < ortem 1650000
B. B 55»8S5 3035y (imaGen Venture,s,),a’{é PGRSE DN BQYM™ MO .
C B2 oDhg DOSHS e’ LD (founder).
Q8BS 223772080 JOHE KXW : e A
@
(1) ABaS CSrED 7 st

@) ABcsm BSrSDH 2
film’To Killa Tiger’ nominated for Oscar Award - 2024 ?

Who is the director of a documentary feature = 3 Nikhil Mahajan ~ (4)  Kartiki Gonsalves

1 i i R. Mahadevan ©)

( ;)ao 5 NE}; Pahu}ag:, (2;)55 S s god SosDEo e 86 3 B’ (ToKilla Tiger) T Bt
S5 ot - 2024 % W ®

AN ?

(1) Qap Hisoes @ o5 oD @) S HIFS @ sy

X I
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Y

ing Artificial Intelligence (AI) system figured in the resolution adopted jp,
Which of the following features concerning

?
the UN General Assembly in March 2024 ?

N S e C. Honest D. Trustworthy
e B. oe

Choose the correct answer : ) A,Band D onl

1) CandD only 54; A: Band C onlil,

@ AandB only

H® Boes (Artificial Intelligence) é?gé’e’ rto & 2068 o Al mé&y&% S8 DL (5828 985 (Genera]
Assembly) & SIBOBDAS g;oo&;so@s Bod oo (features) D aTnow ?

A o580 B. &S0 C Nerond D. 2663&65&?6
/S é&b@@@g\ QDOHE KW :
M CBamDsmss @ A BB DS
®) A8 Bsms @ A BSBd Caima
Which of the following statements is /are true with regard to Jaya Varma Sinha ?
A She was appointed to the post of Chairperson and CEQ of Railway Board in 2023.
B She is the first woman Chairperson of Railway board.
Choose the correct answer ;
(1) AandBboth (2  Neither A norB () Aonly 4  Bonly
DA B BT Howood (Bod Tgased® D0/ aky 2

A 20238 53 38 6% 6555 S0 05 SEREEE56T DosrDrosig 28A0B.
D OO0 S Topanns fotre gEsS.
833 ‘éa’woz;)vm%& RO K5 -

1) A%BanBBoxr (2) By

anu Yuddh Abhyas’ was conducted
was meant for : i .
(€)) Biological warfare Preparedness (2 Pandemic Preparedness
(€)% Combating floods 4  Cyberwar Preparedness
VPoxB 2024 &8 eSSt o5 Dz 0533§ OFFR’ O 2.8 K78 BS D

ERFOTD. 18 528 K020080008 :
2 SO DRI Bodgs
@ 305 cug ok

1 #3 Oﬁ:ocg éo?ogé
B) 5883 0636"37263&)
Which of the followin

g countries has completed its first nuclear power plant known as ‘Barakah Nuclear Energy

Plant’ ? L 33

(1)  Iran (20  Bahrain

(3)  TheUnited Arab Emirates (4) Saudi Arabia

Bod O B¥o ‘@orse e BOLS QOE 1 Bosed TS e Dy EoYToeR)) Fe0F08 ?

1) =S @ 2588

(3) (ﬁDQB_éBE 3114 a&)a'ciébi) (47 el TSP
Which of the followin

g gotthe award for Begy Documentary at the 70% National Film Awards for the year 2022,
declared in 2024 ?
1) Kantara

(2  Murmurs of the Jungle
()  Aattam (4)  Brahmastra
800 B 20048 (SEBODS 705 erbas seseys ©TROS’, 2022 SOSETVE > & oL et
FoBIB & ?
(1) srozE 2  H05508) ©F & worS

@ o @ s

X 6
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Where did the 13t Minister:
1d the 13™ Ministeria] Conference of World Trade Organisation (WTO), 2024 take place ?

1 Doh

(1)  Doha @ AbuDhabj (3) Riyadh (4 ~ Amman

(H0eS aeedesg Q0 (World Trade Organisation) S 135 Solgoe W 45mS80, 2024 HHE 8ONCH ?
&5 ’

(1) @ owop @) o @ o

Consider the following in relation to the Skily University in Telangana :

A.  SriniRajuh g :
Th ju has been appointed as the co-chairman of this University-
B. e state government has appointed industrialist Anand Mahindra as the University Chairman.

Choose the correct answer :

(1) Aonly @ Bonly @ Both A and B (4)  Neither AnorB
Boorred® S ArdSRH $o2050D 8od B HOKBOE :

A & cErOBR)EE &R Toer SS-FESrr Ao

B. T (08080 (H5wp FBEenEIE 608 slrosiny FEHSTE AaH0D0B.

EIRSE L m Y NOTHE KD ;

(1) ASPED @ BSRED 3 ASBc»BIoEr (4) ABOIDBTER S

In 2024, the President of India conferred Bharat R
is not a recipient of the same ?

(1)  Karpoori Thakur (2
(3)  AtalBihari Vajpayee (4)
2024 8 g8 ToHHS BenrHrhd (H5w0e wé@oﬁn@@ RS 58) oo [Hurdo Beedd. & 8o 06° Ty
(5rs =08 5 ?

tiia awards to four famous Indians. Which one of the following

Chaudhary Charan Singh

“M.S. Swaminathan

.&/6 E5m0 ToErb (@ TEO SEH Roh

@) oo HFO SO (4 MS. IS

Which of the following is not a planned outcome of the Telangana Global Artificial Intelligence (AI) Summit
2024 ? =

(1)  Collaboration and Investment

(20  Responsible Al ] .

()  Uniting leading minds

(4)  Fostering an Independent ecoS
806 865 Boorrn Fod §BH 6
1) DB SseseBo LB epel
@  erggEcins 5B 6 (AD)

@ epdtares SOAS (om0l O e

@) DB g%%0 Seol& g;ooég,éga 550‘)‘8263

ystem for innoyation
(&l Bapoelll BSPHE0 2024 B FHerLsREHNS $OE0 B B ?

<S80
@Géﬁ)&"o:‘jcﬁo

7 P.T.O.
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25.  Match the following countries with their ranks as per medal tally in

27.

ET

Country
A, China - _ L
B.  TheUSA. : 1
C Australia .. I
D France ~ v.

V.
Choose the correct answer :
(1) A, B, C1, DIV
3) A-1V, B, C-II, D-V

aris Olympics, 2024 :

Rank
First
Second
Third
Fourth
Fifth

@ AIILBLCV,DI
) AILBILCIV,D-V

S 2.00DE) 2024 6° JHoDS BESTL VOB (Heeo 800 Boeodn 8 o';goéwé‘ 28836508,

a%
A B I
B, G550, IL
C  eHosskr I
D. @& V.
V.

8BS 23772080 DoHESD
(1) A-LBILCIDIV
(3) A-IV,BILC-I,D-V

Who is Narges Mohammadi ?

°°§°é°
AeTalA)

Bod
Borotssd
QD
Aty

() AJIBILCV,DI
@ . AILBILCIV,D-V

A.  Sheis an Egyptian human rights Iawyer
B. She was awarded Nobel Peace Prize in"2023.

Choose the correct answer :
1) Both A and B 2
é@ﬁ 3:)3’3"53&& QDB ?

Neither A nor B 3)

A only (4) Bonly

A s a8 éaéo"—a 0055 a’ré)&e) ePaDE.
B. e 2023 65 SBS 08 05058 oé:)oaoa

3B e35°e0 S DO K
(¥ ASBASWBToE> (2)

A $835%0 BB&.‘J’ =H B

A SRED @) BIRSD

Which of the following is not one of the main organs of the United Nations structure ?

(#)  The Trusteeship Council

(2)  The International Courtof Justice
() The International Bank for Reconstruction and Development
(4)  The Economic and Social Council

8ob &&° wEoas H8 (PP Dgrerrers® WO 500 28 ?

M) eiaS s
@) =00BISsS 55 6b a)d

B) oLEIRSS erg08 0 BES)LES wok ase5Dot

@) I5WE ol AWKS g"@(\)ﬂf

X 8
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ET

Arrange the form iR . der of their t f office :
A e Annair secretaries - General of the United Nations (UN) in chronological order of their term of oftice
C Javier Perez de C B. Ban Ki-moon .
Choose the correct arelsvt:rnér D. Boutros Boutros—Ghall
(1) B,D,A,C (‘2) 4y D,BAC
— C,D,AB A,B,CD &
o&soress DS 2 ’ &) A :
B 8 Erel VLS a0 6 Hi5d o) o8 swl.éér’zéaé"éoés BB :
A 8D s % & oS
B. 8P S
C.  BOaHE 3 2
> 0S8 & SryoB D.  en&s™S wo*R-0
BB 2:5°e0K0 DoHE Koy -
B
¢y | ,D,A,C @ CDAB 3 ABCD @ DBAC
AonSlci‘:;st:ef;(r’io‘f’mg statements in relation to G-7 :
B Ith al grouping of wealthy western nations.
; as NO permanent secretariat or legal status.
Choose the correct answer : t
(1) BothAandB ()  Neither AnorB )
®) AJonly (4) Bonly
2-7 % Jo050D (8od o500 HOXBOSSW :
A 8d J0D) FeE Beve GroSS SHawseo.
B. 808 w8 3000 51, 3§ Fre w0 Sk
HOGN 2257720 DOHER0Xw !
(1) A0a BBoE® 2) ABS» BTBokr 5%
@) ASwED @) BIwEd
Consider the following statements : ;
A.  Indian Prime Minister made an official visit to Russia in August 2024.
B. Russian President Vladimir Putin conferred Russia’s highest civilian award, The “Order of Saint Andrew
the Apostle” on Narendra Modi, Prime Minister of India.
Choose the correct answer : =
(I} BothAandB  (2)  NeitherAnorB — (3 Acnly 4) Bonly
&8 800 g HOKEBOHID '
A el 20246 grB8 (T o0l BiE a8 BSOS SELI .
B. grd8 (H5rd 8ol IPEY, Bars iR TOME HBS 8y wdgHE Y HEFWo ‘e ©p Donoes
SOEr & oRYSE® FEPOT.
$BS 233702080 DOHE 0 ¢
() ASOcHBOoks (2) AHOOH BT D @)  ASHED 4 BIPED
Consider the following statements in relation to the Bay of Bengal Initiative for Multisectoral Technical and

Economic Cooperation (BIMSTEC) : . .

A The5% BIMSTEC Summit was held in Vum?idgg‘%zmciozto '

B.  Atthe 5t Summit, the leaders adopted the B LS.

Choose the correct answer :

QY BonAamdB @ NeErAME i (BSEN Semobon Sob s
DSoEE0N PoBEBE B85 @Qé 455580 &6 grSE0 (CSVES 020500 80b 5w

DBKBoHRW :

A 55 dDYS sgors S5mBF0 2020 éoééﬁ)zzoﬁéém QEgrosetod.

B. 53 8po simdos® DS TEO ¢

0% esen> Joth : r
1) A:aoﬁ»;afgéazz) A o005 BT D | A e

x| 5 ero.
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Consider the following statements with regard to Ajay Bf‘“ga :. 2022 for a 3 years term.

A. Hebecame the 10" President of the World Bank ¢ 'm,“p 1"' snt of India in 2021.

B. He was conferred Padma Vibhushan award by the Preside

Choose the correct answer - 3)  Aonly (4)  Bonly
(I BothAandB  (2) Neither AnotB

©esd DO Komohod & Bob g HOKB0HDD ! 5% 10 $ ettonr DchHndedimds
A o8 3osEe Sl i, 202268 B0 w0 (56 10D e o

4 3HBoTL.
B gr8 oo o0 2021 & 55 DErhE o8 S8

VB WD DOHE Ko - s
(1) ASB»BBodr (2) AHOcn BDoEr D () ASeSDH 4) Bimss

Consider the following statements : o

A. Prithviis India’s first indigenously developed ballistic missile.
“Prithvi” missile was fi ted in 1990.

]é. Dr:et::; R:;::;leh‘gsz ?)r:\trgle(fpment Organisation (DRDO) developed Prithvi missile under the Integrateq
Guided Missile Development Programme.

Choose the correct answer :

(1)  AandBonly (2 AandConly

3) A BandC (4) BandConly

Bod (BEeIO% H8KBoSR

A 38cHore ©)HQ BHodS grESTED nsd ORE 856D A

B 1990&° “9a0” 858 Zwisd o 68050808,

C 55w 308%5% S0cw ©8R $og (DRDO) 5808 8:5¢3 ODHY SED0 8ok B8y 85BD ©f58

3208,
JOGDS 626:«:@@:)& AYE S0k, £%
(1)  ABS» BSmED @), AHBH CEmED
B) A BHBAHC : (@ BBt CamgD
Which of the following is correct from the smallest to the biggest on the length scale ?
A 1pm B. Inm C 1lam D. 1fm

Choose the correct answer -

(1) B<A<D<C (d B<D<A<C B) C<A<B<D 4 C<D<A<B
(B0B RS, 8 K08 KOG B oy HOAS [Eoos® 3@k 28 ?

A 1pm B. 1nm C 1lam D. 1fm

S8 a837rend QotHEKHS -

(1) B<A<D<C (pAY B<D<A<(C 3) C<A<B<D 4 C<D<A<B

In the “Intensity-hue-saturation
saturation represent ?

(1) Frequency of a color )
(3)  Brightness of a color
QLS (sPea0 (remote sensin

color coordinate system”, used in remote sensing applications, what does

Purity of a color

(@)  Wavelength of a color |
8) OIS’ @%@Brfod Q0B -0 - PGS S5 %3¢ do (Intensity-
ate system) &° o5 B0 KrORd ?
(1), Gord @wg) 5950 (Frequency) (o) wor @) 3538 (Purity)
(B o o) (Hsedo (Brightness) @) Bord BwE) Bor@Y 50 (Wavelength)

x 10
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Consider the following two statement
! S:
Assertion A Rain water has a pH of 7

ReasonR:
Choose the correct answer :

n A is false but R is true.

CO, present i
= tin the atmosphere dissolves in rain water.

Both A i
@) and R are true but R is not the correct explanation of A.

3 A is true but R is false.

) Both A and R are true and R is the correct explanation of A.

(808 Botd gage HoHBoBOE
YIS A 5850 O& pH Densd 7.

ooeedo R: ErHBeesnd® CO, 585 ABS® Khitsod.

5@_;5 23570200 o5& K0 :

) A 3BIB 5ot 500 R $B38. j%

A 55805 RBOET $BHD 50 A G0y, 560G D6 R 5oL,

@
@ A %856 5O R HOTOIL B°K.
4) ADBA RBotre 585 00 A o), 0GP 3)26659 R
Which vitamin deficiency causes Pellagra? _
(1) Vitamin A @) VltammBS
3) Vitamin D @ Nlacm (V itamin B3)
5 DS 8o Sy 1Y (Pellagra) a5 SO ?
1) QWS A @ QoS Bs
@ 9eM™SD @ QRS (DS By)
The Microorganism that performs the natural photosynthesis is:
(1)  Virus (2) Fung
(3) Protozoa @) Cyanobacteria
e Beansy SoBRHBAD D Koo Y B0 ¢
(1) 365 (Virus) @ 28dolgren (Fungi)
@ @bestebae (Protozoa) 4) ’&’gsswéboﬁsv (Cyanobacteria)
Dr. Verghese Kurien is known as the alfchitect of: '
(1)  PinkRevolution @ Vit Rl
@) Blue and Gold Revolution

(3) Yellow Revolution
& Bod &S, oo Il ST %000 B8

(1) Herd DFHo (Pink Revolution)
@) oD dPHo (Yelow Revolution)

@
@

S5 B)™ (5% Bowedd ?

Jry

38 Do (White Revolution)

S

Her0 LB worrdd PHo (Blue and Gold Revolution)

X

11

P.T.C
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Consider the following two statements :

Assertion A : Rain water has a pH of 7

Reason R: CO, present in the atmosphere dissolves in rain water
Choose the correct answer :

1 Ais false but R is true.

A Both A and R are true but R is not the correct explanation of A.

() Aistrue but R is false.

(4) BothA and R are true and R is the correct explanation of A.

(Bo® Bo g HBrBoSod
QGFS A $8:0 O pH Dendd 7.

8do R: TSI CO, H8%H DB’ LrorhEod.

:6.3_26 23570200 DoHE°HNW :
A K5B88 5085 500 R B850,

)
A 506050 RBor $THD 520 A S HBFS DB R 5.

@

(€)] A 5886 5°Q R 58038 5080

@ A 0050 RBotr SPID BoB350 A o) SOEHD :Dééee R.

Which vitamin deficiency causes Pellagra? .

) Vitamin A 2 VltammBS N
@ Niacin (Vitamin Bs)

3 VitaminD

5 DS Ho Y PRI (Pellagra) 56 Beni$do ?

1) .S A @ OuWEB;
@ QeSD @ DS (D08 By)
The Microorganism that performs the natural photosynthesis is:
(1)  Virus (2) Fungl
@ Cyanobacteria

(3) Protozoa

Hes 88eaasidy BoRPHBD 238D oo QB30 - |

(1) B8R (Virus) @ 8bogren (Fung)
2Sear86asr (Cyanobacteria)

@ @6?56 &bar (Protozoa) @

ien i itectof :
Dr. Verghese Kurien 15 known as the a;chltec ‘ .
(1)  PinkRevolution 2 White Revolution
@) Blue and Gold Revolution

S5 BT (B8 Bowedd ?

3 Do (White Revolution)

(3)  Yellow Revolution
& Bod B, oo Il SET %6cHS B8

1) Heoed Do (Pink Revolution) @ .
(B) S0P dHo (Yellow Revolution) @ oo $0a worrt B0 (Blue and Gold Revolution)
@ 1 P.T.C

- |
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ET

ins with their common chemical names:

Match the following Vitam

Vitamins b Chemical names
A Vitamin C I Folic Acid ‘
B. Vitamin M 1L (‘yanacobale'xmm
C Vitamin H . Ascorbic Acid
D. Vitamin B, V. Retinol

V. Biotin

Choose the correct answer : 1
(1) AL B,CLD-V @)  ALBIL L—VI, [;"1
3) AL BLCIV,D-V @  AILB-V,CIILD-
(BoB DesenSes o e SRS 8" BERODED

DS Bapaod DO
A dLDSC I 995 eXpo
B 2eSM L %cksstrond
€ SoSH M odFPE eo
D 2028 B, IV. B8FS

V. &8

SBS arend ddpsPod :
(1) A-I,B-I,CII,D-V
(3) A-I,BI,CIV,D-V

@ _ ATLBLCY,DI

(4y  AILB-V,CII,DI

What type of energy is stored in a rechargeablé E;ti@ery'such as Li-ion battery ?

(1)  Nuclear (2) Electrical -~ (3) Mechanical 4)  Chemical
Li-oa5rS angod S0 HIBRAEFKIEIENS agebe® O 883 48 degdabutoBod ?

(1)  SoosBHE @ xS =B oo @)  BFcd

Arrange the following in the correct order of energy flow in the biosphere :

A. Herbivores B. Primary producers

C Detritus D.  Carnivores

E. Sun -

Choose the correct answer :

(1) EBADC @ B,ACD,E -3 ABCDE @ EBDAC
BoB 7DD, LarSBE0S® KORS SOTS 8 (HIEED 888° edg)ol.

A @osesttoen (Herbivores) B. (oot 6¥)8wrtoen (Primary producers)
C 3@635 (Detritus) D SpodEe (Carnivores)

E oot (Sun)

0% BsmErR) RS ol !
(1) EBADC @) BACD,E @ ABCDE @ EBD,
At what temperature liquid water is more dense ?

3°C @3) 0°C @  100°C

1 4cC )

D SRS 5 50 D oSS 80N ool ?

@ 0C ) 100°C

1) 4°C @) 3°C
X [12]

AC

.
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Whick Of. the followmg statements about Bt-Cotton are correct ?
A. It is a transgenic insect resistance crop '

B. It was developed against Bollworm pest

g‘ f‘iz:eisliijl‘:\zll'o()};esizdhflonsanto (USA) and Mahyco (India) fore \
A ies on Bt- . ia
Choose the correct answer : cotton the final approval for commerct

A,B,Cand
g; A and l:gnll; @ AapaD o
oo (4 A BandC only
Bt-588 $02080D 808 5ot D oG8 ?
A 3B a8 adgdrd)d &eo% Q&8s a’ooé: .
B. b &°Sar) (Bollworm) Biben L58T8ore ©hBB Badhesoh.

ommercialization inIndia.
ization was granted in 2002.

C.  gro8R308® rdefisdes 8550 HID BeSaeods® (USA) SO %278 (India) @3B .

D Bt5d 8 o3 esehire $kmd 2002 & srddgtn S0 @TPE0 ©

Ioh) 23TPEND DOHE KIS

(1) ABCBaD 2 Aok DIHED
(@) Ao BIRESD @ A B0 CEFED
Give the chronological order of the following events in Indian Science Journey :
A Launch of Rohini - I Satellite. &Y

B.  Pokhran-II test. ;
C.  Establishment of Indian Space Research Orga ion.

D. Establishment of Bhabha Atomic Research Cen
Choose the correct answer : : :
® GD, AB 2 A,B,C,D @y -
eBcH 2T Borfod® & (Bod Boserde SoESFRFB0 55908,
A Oerd-1adES B0

B. ¥grS-I50% =

C grobos wosdy 508%5S BOF FIV

D erer e $08%5° Boltio DTN
30

3 235372050 DOoHEKRW :
3 ACBD @)

1) CDAB @ ABGCD

The correct statements about U
A, Itsh is i irobi, Kenya. .
s headquarters is in Na . e triple plan etary crisis.

B. It works for finding solutions .
tates.

C.  Ithastherepresentation only from 191 member SIAes

Choose the correct answer : @ A,BandC

(1) BandConly @ A and B only

() AandConly .
SBBE F4T) HovgStes SPEER0 (United

Togagen wd) ? 200
A B (Hoes SPO 00 'éa"eg@s Q ééaé& é;s)ﬁ"ééo 8%50 $Q Jxyod
B. 30 (B:S PRebd soferod g,aaopv«‘z o 60B. =
C 698 1918 Save 008 S §roR%
VBS a3Trend DoHE KoKW ¢ @ A, B&08asw C
8 B0k CSmgd (@) AOSBIRSD

A %035 C S| @

NEP (UNEP - United Nations Environment Programme) are:

D,C,AB

13

Nations Environment Programme - UNEP) 8 So@0809 30508

P.T.O.
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| (3) AHdawB Soo(& o ®

[lutants is :

The correct set of the primary air po
B. Sulphur dioxide (SO,)

A Carbon Monoxide (CO) .
& Nitrogen (N,) D. Particulate Matter (PM)
Choose the correct answer :

@ AandD only

(1) CandDonly

3) A,BandDonly
(B0 oS SeeoigEEs®
A oS )& (CO)
C 3= (N

$BS 23570E0D DOTETKKW
1) C 5Bk DEFED
3) A,B50c D EmED

@ BC and D only
o @t HOGS BB :
B. %6 ge3)E (SOy)

D. Seodd émgo (Particulate Matter) (PM)

@) ABa»D Soo(53
(4) B,CBawD S

a Vibhushan Prof. C.R. Rao is known for his research contributions ?

A Mathematics B. Statistics

C. Chemistry D. Materials Science
Choose the correct answer :
() A, BandConly
(3) AandB only

&5 (8od TBS* O orre
A KBSTRO

C 6&@5@@0 :
8BS e DoHE KoKW : &
1) A, BBokn CEnEd B )

In which of the following fields Padm

@ A/BandD only
4 CandDonly

b 569 QeseiS (. B.66, T 83 BOEIO T

By ﬁsﬁvoé@@o

(EIA Bowedd ?
p D. % TRo (Materials Science)

A, B 08650 D S
C 508050 D &oo(&gad

Chlorofluorocarbons (CECs) used in the manufacturing of aerosol sprays are :

A. non-toxic B. non-flammable
C non-reactive D.  watersoluble
The correct answer is :
(1 ABCandD @ AandDonly
(3) A,BandDonly ' @ A, BandConly
255S (R Sar66° ad@rAod ety -
A DHSIPEFI (non-toxic) B %0%899 (non-flammable)
C.  @osrdos B33 (non-reactive) D.  H&e&® EorHisd (water soluble)
8BS JSPGRR0 !

A,B,C&00c» D
® @ A8 D SrED
() A/BXdawD S|P

@ A BB C S|

x 14
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The Convention on Biological Djye
(1)  United Nations Conference
(2  United Nations Security Councj
) 3 uncil Sessjon, 1
8; gnml::g EZEOI\S gonference on Human }fllr,wigr?nment 1972
o i

SSBDER SETDE N onf_erence on Environment and Development, 1992

B © (Convention on Biological Diversity, CBD) §°6% Goss D
(1) RODS oDHAD IV I :

: ) SRYBSY, 2002
(2) OWBBE VK HSE H050 2gS 2998
@) RS HogHseo SIBE 3:15‘3 S0)BRY, 1972

4), DOAIE 3
@ TgR080 K0Basn @é)ée)g&.g SwIBE 3:150 sv@as‘g, 1992

V;Ihich lg)f t;l\e following chemical(s) has(have) the longest Atmospheric Lifetime ?
1) erfluorocarbons (2)  Methylchloroform
(3)  Chlorofluorocarbons (4 Halons

Bobd & BPADI0 (ScHTe0) DS TPEestes £Q oo (Atmospheric Lifetime) DA éotnod/eaotrow ?
(1) $66°s)S) (Perfluorocarbons) Q) s staro (Methyl chloroform)
©)] §:5’58’Jj565°6835‘3 (Chlorofluorocarbons) (4) — &ferS) (Halons)

Match the types of lakes with their characteristics :
Lake type Characteristics
A Dystrophic Moderate nutrients, can support biological activities
B.  Oligotrophic Full of nutrient, wateris murky and unhealthy
C.  Mesotrophic Also known as hqziﬁé;lakes, full of humic and organic substances
D.  Eutrophic Very low or no nuttient, water is healthy

rsity (CBD) was first opened for the collection of signature during :
on Sustainable Development, 2002

<BEHE"

500 Di5ypt> Totsks (BrEoPosalSn ?

Choose the correct answer :

(1) AJLBIV,CLD-I

() A-LBI,CILD-IV

Fodhe S T8 ofros® 8.

o %o
A & %S (Dystrophic) L
B. £OfE*S (Oligotrophic) IL
C. RS 1L
(58 Iv.

D.

8BS Jsrgrdo 0263&5":60& ;
(1) A-IBIV,CL DI
(3) ALBI,CIL,DIV

Which of the following are greenhouse gases B

A. Carbon dioxide

2 AJLBIV,CI,DI
(4)  ALBILCIV,D-

ogered

QSRS hseen, d3 Yowoy seUgEoPTOH &ytomeom
HroRFsseeD, A Swo8me Ko OB KEEDEO

05308 (humic) S8t DolBed HrTEes® AoER, oo 208
BP0 O EPT® HEORD

arer EES B Fseen B, i 6880

@ A-IIl, B-IV, CI1, D-I
@ A-L B, CIV, DI
' ~ Nitrogen

D.  Nitrous oxide

C Oxygen
Choose the correct answer : C 3 AandB @ CandD
() AandD @ B and o 9 ‘
808 B 5D (ASH®S (greenhouse) T 3PS
é s‘:a)SSQesg)E D PR eg)E
s ‘)&3
8BS 2357020 DOHE KW BT @ A%BawB @ C%BcwD
(1) AHBSSHD @ B

Iz:l 15

P.T.O.
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54, Identify the correct statement(s) :

A.

Richter scale does not measure the energy released by earthquake.
B.

According to modified Mercalli scale, an ear
severe structural damages.

The correct answer is :

@ Both A and B ) Neither A nor B
@ A only (4) . Bonly

Bod TS’ $3S s ool

A gbBoBo oroe Doy $80 0E6 WS BN,

B.

thquake with intensity scale V is considered to be extreme with

D880 WY Jpew (modified Mercalli scale) (Hs°So, RSV, NOYETOH $Ho&® Eras BSPS grsotore
HBKBoSEHOR.

IS JSoegeso :
1) A0 BBokr 2) A BBotr s
B) ASwEd @) B3

55.  Arrange the major earthquake disasters in India after 1990 in the chronological order :

(1)  Latur, Gujarat, Kashmir (2  Kashmir, Gujarat, Latur

(3)  Kashmir, Latur, Gujarat (4)  Gujarat, Kashmir, Latur

1990 STE GrE8B06" $0giD0DS (ST GE0D DHWoH ToESrHITO B8,
(1) &6, e, 545

(2) ' ,—,%swg&& Koese8, eoeseE

@) 588, ordrE, rHuces (4) - thwoe§, sod)5, ereired
56.  The Biological Oxygen Demand (BOD) value mppm of pure water and highly polluted water respectively are :
1) 2and5 (2 =17 and higher than 17
(3)  less than 5 and higher than 17 (€)) wl higher than 17 and less than 5
HE DB 500 wEgos wevds HB £5 ©8mS &0l (BOD) denden ppm & SEsw :
(1) 23006a®5 @) 17 005 17 So8 8y

(3) 5508 S5 H0aw 17 o8 KPS (4) 17 o Dy HBako 5808 S5

57.  Arrange the following states in descending order in terms of production of Jowar in‘India (2020-21):

A.  Karnataka B.  Maharashtra C.  TamilNadu D.  Rajasthan
Choose the correct answer :

1) B,CAD 2 ABCD @) ACBD 4 B,AD,C
FESBEoS® &Ko aBB (2020-21) HSore 8o oo(EeR o565 B8 ©K)0s :

A Sonwl B. odStorg C.  SEI D. oo&@gs
WBS 2257200 DOHE KOS ¢

@ BGH8D @ ABCD @ AGCBD @ BAD,C

X 16
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g, Arrange the following set of districts of Telangana in descending order in terms of percentage of total cultivators

to total workers as per 2011 censys.

(1)  Adilabad, Vikarabad, Kumuram Bheem, Nagar Kurnool

(2)  Nagar Kurnool, Kumuram Bheem, Vikarabad, Adilabad

() Vikarabad, Adilabad, Kumuram Bheem, Naga;r Kurnool

(4) Kumuram Bheem, Nagar Kurnool, Vikarabad, Adilabad
2011 2°°8° 8RR (H5°60, & (BoB Boorrn dere wi, 3080 ?5&5966 0
05855 (_éé)oé‘s XLl

(1) wdrerd, dsoers, Hindo Y, K6 S6mS

(2 K0 sEmS, Hdwso 5)53, dsorered, @6@@5

@) o, sboers, Hiwdo P, 6 s

4) 5080 DS, K8 g, asvovaa?s, eshererd

o e 8o b

59. Which of the following statements about the earth’s atmosphere are correct?
A Theair temperature at the tropbpau_se is more at the poles than at the equator.
B The coldest temperature anywhere in the atmosphere occurs in the exosphere.
C.  The temperature in the thermosphere can reach more than 1000°C.. | v
D.  Inthestratosphere, the temperature first decreases with heightand then there is sharp rise in temperature

upto stratopause. . ‘ 4
Choose the correct answer : s M4 =
() BandConly ey
(3 AandConly" @ BardDionly

- EeSBerd8 $S0w0God & L%o& SJ°§8>§OQ36 D (obaﬁ%) ? _
A (55D esbmsn S8 O &8 e@mé v :négé ms So8) Gyme B A Hotnob.

- perdbmost AR ©8 Sk SRS Y eéggaz,sn ot otran
56, estmsns’, asflide 1000°C Eo8 DEPI oL,
@vess @ééwméﬁ Smotore eafiden ot THYF0b 8, Soms grb rOERO.

K:p_:é R0 DOTHE R !
@ A 508050 D S @D

(1) B 508050 CEw(EaD -
3) ABc Ca’mtéﬁa @ Béabdﬁan@&

o N =

60. Consider the followmg locations of;:;ﬂ G Kendu]har D. Ballari

A. . Bailadila t: I:cat argalt gement of the above givenlocations of iron ore mines from east to west
Which of the following is the corT

direction ? _ 5 AD @ CADB @ ACBD WP

C y £37

(1) A,CD,B @ ™ oo S0TBOSOR -
_- ¢ o A0

ot & Bob 58 TED 1 C B D wep

A Bober 5&NO 4 500 Lo By ©HBESY, S (808 O aTren ¥BRA ?

o 70 ® CADB 4 AGCBD

s agys wis G 160 T

(1) A, C, D, B (2) C B, A
' x|
PTo

ET
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the boundary with lake Tanganyika ?

2 Rwanda
Democratic Republic of Congo

Which of the following country does not have
@ Tanzania

4)
®)  Zambia (
- LA YA éd} ?
808 @t o G2eR8 erorelgs® 208" 063 d
@ Oxow (Rwanda)
D =owdam ; SOE &5 Soofs
@ aaj"Léag bo)@’ By S°0
@) aletAlow
ich erstwhile district of Telangana ?
Satmala Range in Telan traverses through whic .
gana

(1) Adﬂab ad (2) W ar angal (3) Khané)m la&-nl‘) (4) Kal mr lagar
8vorrg sty Semer (38 Boorrardtd & oD B How Jthod 7 ;
M) sdewers Q) SoKS @) o (#) 80036
Consider the following pairs :

Geographical Indications (GI) States
A Chunar Glaze Pottery = Bihar
B. Sikki Grass Craft - Assam
C Bidriware - Karnataka
D.  ChanderiSarees . Madhya Pradesh
Which of the above given pairs are correctly matched ?
() A,BandConly 2 B,CandDonly
®) AandC only 4  CandD only
808 e DBHBoHBD :

FHLS S0 0%en (GI) TEen
A HTERS 6 - B
B. 28 (& 5°8 - o0
D. Boad S 9 é)dé @33 5

2 &St H Sore 83 olran ?
(B A BdcS» Csmgdh

@ B,C%Bcsw D s
B) A CEmEdH

(@)  C500n DsmeH

B. Formation of Mylaram ang B

Choose the correct answer
()  BothAandB (2)  Neither AnorB
(3 Aonly

$0S 23570200 OHE oKW
» A Sobasn BBoXw

N (@  ALBd» BBotr sv,
() A

CYR F T

X
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In which among the f . .
g the following erstwhile districts of Telangana, a part of Nallamala range 15 located ?

(1)  Mahbubnagar @) @) Adilabad

Khammam @) Karimnagar

B0 (Beaow &
&= L 8°0¢8 &’“KO a&)omea U"gOée&) % Léo& o) @‘"6(5:2) gq:ﬁs éO&) ?

) So5eereS G 2 PSy0 3) 88016 ) esbeeerd

d- . . P .
According to National Family Health Survey-5 (2019-21), which of the following state has higher under-five

mortality rate than India’s under-five mortality rate ?

1 Assam :
@ (2)  Manipur (3) Meghalaya 4) Tripura

erBas Henoe 6B K85 (2019-21) (Beobo, & (Bob e O T s Soveae Ben (@ Boddore

&9 DROE’) S IS Sodere Besks (w8 JosGres™D nped®) 80N HYE-

M e%P @ SdxE () Diredd @ P

Consider the following Seas surrounding the Russia and arrange them in sequential order from Prime Meridian

to eastward direction

A, BeringSea B.  Barents Sez; B C. LaptevSea D. KaraSea

Choose the correct answer :

1 DBCA 2 ABDC @) BDCA @ CD,BA

6% Bdo Htap &) (8o JBmlgrod éaﬁaﬁq_ﬁ) LB PO @53 085S (Prime Meridian) 008 Erdy) B

3H% S50 E00s® ool :

A #6oR s¥wgo  B.  er00f) B Go C ojSsimgo D SO sEwmgo

8BS asaed DOHEKoW

1) D,BCA @ ABDC - @ BDCA @ CDBA
Consider the following locations :
A Eilat/Elat B.  Haifa C.  TelAviv D.  Ashgelon
Arrange the given locations from North toSouth direction and choose the correct order :
(1) CBAD @ BCDA @  ABDC 4 ADGCB
808 ar® EnE) LSEVOD BoKdoSob:
A wosjesS B EF c B85S D. oS
() CBAD @ BCPD A @ ABDC 4 ADCB
IE 19 P.T.O.
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tatements as Per the Telangana Socio-Economic Outlook-2023:
Consider the following two 5

Assertion A : The Gross Sown
State from 131 lakh

has been tremendously increased after the formation of Telangana

GSA
Area( -) 15 to 198 lakh acres in 2021-22.

acres In 2014-

a is mainly due to the planned investments in new irrigation projects,

- in Are . . i
This increase It g irrigation systems and systematic procurement mechanisms

italisati istin
rev1tallsat10n of ex1
implemented by the Government.

ReasonR:

Choose the correct answer :
(1) Aisfalse butRis true.

(2)  Both A and Rare true but Ris not the correct explanation of A.
(3) AistruebutRis false.

(4)  Both A and R are true and R is the correct explanation of A.

BoorTe JSrRE-wdE BiSen§-2023 (Hsedo Sob (DB HOKBOSE
@
DYBS A: Boorrn Tgo IGAS $Bard 2014-15 & 131 o Demen &) Howo Bpe (DGD) HRFo 2021-2
88 198 oo doro grdr HONOB.

D0l & DI Bersor 58 B FEse (FBLEE® Herdsragins Begades, sEE e
-2
DB FSise H5Sge DI DA (#8550 s BRS (ESo0EIS %888 dgrare se8mome

230A0h.

80 R

$BS 2357020 DoHE o :
(1) ASJpsdRI=0. = 4"
2 A%08a% RBo&r Jao 9 R &0 A Go¥) SOGHS D586 SO

(B  Aleo s REDy. -

@ ABH RBoEr Deso HHOKH R&IB A &) SO DSes.

Norwesters are dreaded evening local thunderstorms which occur during hot summers are locally called in
Assam as \ L =

1) Loo (2) Purbaiya (3] Kalbaishaki @) Bardoisila
TR O3 (Brodadorr SH Jchoseeredt 3)633}:3@50& FODOEEIR SHZ0S® EPRS Mo e

(@ro8aHore DB eI)0® D Lended: ? e

(4) eoe @  JBeaing (3) - SBI8 @  eTonder

Agatti and Bangaram Islands belong to : :
(1) Lakshadweep (2 Maldives (@ NorthAndaman (4)  South Andaman

NG 0 omrsc Giren B8 BoBID :
1)  oghs @ sedHew (3) o85BS (@) S8 woxswS

x 20
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Consider the following statements -

A Belarus shares bounda )
. : Wi i g
B Kiev is the closest noj Ty with five countries,

C.  Minsk, the capita] of
D.  TheBelarus - Ukraine
Which of the given state
1) B,Cand D only
(3) A,Band C Only

(Bod TP5HFO BBKBoSOR,
DS SESw 85 565 '
A e &3 dimdﬁgéa 0% Beod Bos$Hon0d.
o?w O, BeSRE, &5 crer BDB5oEEY et ToaEed isSo.
BER TG ©onSensod 28, B 26 o’ HYO-
1= A4 ;
. BoeSR - 4BowS KOy HrdRHS 6‘%‘5&8 [@rodos® HHB.
D smgeS® $BSD 80508,
1) B, C%0cin D S @  A&8as DSeED
(3) A, B000n CSm(edh 4) BB D S

ghbour Capital to Belarus in terms of distance.

border s located in Polesian Lowland.
TMents are correct 7

(2 . AandDonly
(4) B and D only

O N

—

Which of the following statements about river Yamuna are correct ? ,

A.  Yamuna has its source in the Yamunotri glacier, on the eastern slopes of Bandarpun‘ch range.

B. Yamuna is joined by the Chambal, the Son, the Betwa and the Ken on its right bank.

C.  The Hindan, the Rind, the Sengar and the Varunajoin Yamuna on its left bank.

D.  Yamunariver earlier, had westward flow butlater it avulsed eastward to its present course and joined river

Ganga.
Choose the correct answer : ‘ : -
(1) CandDonly (2) © “Aand D only

(3) AandBonly (4). .. Band Conly

& (8ob 3‘3&350636 Shdoare 568 Sowosod 3)8) ?65@253 1
CHBwIT 5O T ey o, 2orr5505 (B0 Er8y) Tees® ahsnSi@ IErdB B5S HHB.

A 2
B, absom S0 HB Bost, Soad, 8 506 8er Sthes Seodeon.
C oo 36 OS> B0, trowS, B0F, ROMD B0 Sthes Stioen Seazon.
D. oo S8 S H8ysoore [@5erod, Bard EPEYIE (BEEY SER aB)B (Hareore, Korrsas®
SenyHo.
S8 200 DOLHEKHW A 50650 D SPE
() Css6080 DeSE P s S
®)  ABaBimED &
Consider the following hills of North‘ea‘.St I.ndla‘»' -~ ¢, Dafla hills D.  Aborhills
A Miri hj Mishmi *_ove given hills from North to South ?
Which fmhﬂ]s . B ectorderofﬂ‘??b(')veg1 C,B,A,D ° @ ABCD
0 1;) ﬂ1efollowmglsthec0rl'B D AC () YDA .B,C,
,A,D,C @ BDAC
Sob:
éa%%eS PBE SISt 8o genlo ‘66(:2; Tlc Gk Boken D. &% &oken
: B Foen B s 8o Gy TBS (ESo0 D6 ?
O0 P8E a0 008 5 BT ?eéc"’ @ GBAD 4 ABCD
BIA’D’C 2 B,D/A’
@ @ 21 P.T.O.
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i eir respective stateg -
i Wetlands with th .
Match the following Ramsar

State
Ramsar Wetlands 1 .
A. Nanjarayan Bird Sanctuary H arnataka
B. Nakti Bird Sanctuary m :Iadhya Pradesh
i . ih
s Tawa Reservoir ar
D.  Ankasamudra Bird Conservation Reserve IV.  Tamil Nady

Choose the correct answer :
()  AIV,BI,CIL DI (2) AIV,BIILCIH,DJ

@) A BI,CII, DIV @ ALBILCIV,DI
& (8oB P06 DB Sood & ToE) o8 addahod.

orokb Dé& 3} oo g
A Boa8asrS H8 efasrdeso L Sooex
B. 38 ©8 eosrdngo L S 8
C.. oo serdaho I 956
D. oSSy $§ Sosges Dty V. &¥to
$BE SEFTREH08 Do 0L : :
(1)  A-IV,BI,C, DO ¥A) AIV B-II, C-1I, DI

(3)  A-LBII,CI, DIV @ A BIILCIV,DII

Which of the following tribes do not belong to the ﬁ‘imalayan Region of India ?

(1) Bhuiya () Tharu “(@) Apatani @
808 BE° ST trsrecs (Fromds Bosd 3K OB ?
(1)  goncie 2 =% @ o%erd @
Identify the wrong pair :
Tribe Folk Dances
(1)  Santhal - Budigali
(2) Gujjar-Bakerwals - Mangho
€)] Bodo - Bagurumba
@ Gond - Gaddi Nati
HOsPR) 285 HBOHRW :
1) Rozd T adKd
2y Hy6-a80zreoen - Swors
@ & * Bot0e
4 fPotHd .
@ K& &

Chang

®oh
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78.

79.

80.

ET

Consider the following statements ;

A.  The Ahmedabad -
Movement,

B. Gandhiji wanted to startc

C Gandhiji wrote to the Vic

D.  The Ahmedabaqg session
decision on civi] disobed

Choose the correct statements :

1) A,BandC only

(3 AandDonly

Bod (DBLI0% HBKBoSoR :

ession of Indian National Congress (1921) withdrew its stand on Non-Cooperation

ivil disobedience movement in Bardoli.

€roy to release the political prisoners. _
of Indian National Congress (1921) authorised Motilal Nehru to take appropriate

lence movement.

() B,CandDonly
4 BandConly

A 88 @8ch sofio OIS SErHdo (1921) & HFHITEEEEFH0P ES ©PErArR (stand)
éo"béos’?&o:ﬁag"?é&&.

B. 806 mobe @é&‘go{»&‘éééoo (BrSofomredotad.

C  oedod Bhot Abse Fahiod rrobd S @rons ToEed.

D. 588 er80% ok eimmrer $srddo (1921) 6° w5iuoidinog 585 dgaso HHES egsso
IrBeorS JT0sH 808,

JBS (DBLI0 DoHE 08D ¢

(1) A BB CImED £2)  B,CBoin DSrE
(B) A8 D S (4) B %0Bcs0 C So(ead

Arrange the following events concerning Indian National Movement in chronological order.
A.  Khilafat Movement '

B. Resolution to fight for Purna Swaraj

C Lucknow Pact between Indian National Congress (INC) and the Muslim League

D.  The Communal Award

Choose the correct answer :

(1) C,ABD @ D,CBA ® ABCD @ B,AD,C
gBE B0 F 5T Bowohod Eob Bogorserd SLRE0E o).
A DerH8 asgsoo
B. S8 xoeeyo S PTEErRs &oyo
’ ; o5y o8 audhrotso

C  opbs erbod sofD (2ASD) HHBaHy J0RO OR oty 3
D. 5SS o8
IBS 23570208 DOHETRORW !

o4 3) A,B,C,D 4 B,A,D,C
(1) C,ABD @ DCBA ® @

ts of the same life, two forms of one truth. Ramakrishna was the

“Ramakrishna and Vivekananda are two aSPelzn.a tions.” Who made this remark ?
concept and Vivekananda appears a5 the exp ® RC Majumdar
(1)  Ramdhari Singh Dinkar @ Dr. S. Radhakrishnan
‘(‘i)b&éRabgd:;:;t; Ta?;go;e 4 doeol 3065 B @o':::\;. &8 Qerd8 Totd Booaren. TR a8 grs.
e S8 sPR08 & e BROBIL ?
DBseKo el DSeser EIHFD.” & ;)",sﬂzi) R.C. $0e»&tr8
@  ooSged 2ok 836 @ o S. oGBS
B)  SDoss oot
@ . 23 P-T-o.
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82.

83.

84.

ET

()  C.Rajagopalachari
TRIT Q0S5 5000068 robd Kop

“The Age of Consent Bill’ in 1891 soﬁght to push the age for consummation of marriage for women from :
(SNe) ons
1) fo to 14 (2 10to15 3 10to12 4 10to13
%53&@ $0%%3) Hey’ (The Age of Consent Bill) 1891 N @0 DTS éb(ygé &’)cﬁo"coa()éa N0 X)d’néo“) o0& Doy
DK Domred §608 ?

M 10 %08 14 2 10%008& 15 () 103008 12 (4) 10 %08 13

Consider the following statements :

A Chandrashekar Azad died on 251 February 1932 in an encounter with police in a public park at Allahabaq
B. Surya Sen was associated with the revolutionary movement in Punjab.
Choose the correct answer :

(1)  Both AandB ' (20  Neither A norB
(B)  Aonly (4) Bonly

Bob (B8 set $BKBoSOR

A

25 (D8, 19328 woitarbs’ HE5 Fvns® e VBBSPE® $0(5BPE eseE SIDSSTKo.
B Sowrd D55sgsoos’ Boetss DS Bowogio DA ek,
[T 2warenid DoSHE S :

(3)  A%Ba%» BBoke (@ A%BdBokr =
B) ASmSD @) Béﬁ@?p

Match the following : £5

A.  Ananda Mohan Bose L East India Association

B. Viraraghavachari IL Indian Associatign}g

C.  KT.Telang . Madras Mahajana Sabha

D.  Dadabhai Naor‘oji Iv.

Bombay Presidency Association
Choose the correct answer : -

(1)  A-ILBILCIV, DI @
3)  ALBILCII DIV
S8 (BoB D 238558,
A 6508 IS 55

. dorsss
C 8.8. eroh
D. oroegron P8t
(TS 235772080 DOHE K0S
(1) A-II, B-II, C-IV, D-I
3) A-l, B-II, C-1M0, D-IV

A-,B-II, C-II, DIV
4  AJLBIV,CI DI

&Y BORSET VPVGHES
B0BWHS RREKS
Soleeo Lossess $e5
208 DAY oVRFHRS

< BV S

2  ALBH,CI, DIV
@ A-LBIV,C1,D-I

When Gandhiji was marching to Dandi during Civil Disobedience Movement who led this march on the Malabar
Coast?

(1)  P.Krishna Pillai (@ V.Gopala Krishnayya

(@) K Kelappan
L3Sl 3?0:6530)360, Sooers Host & S BB TecHES0
D&roTeH ?

(1) P.gasy

2 V.o ggang
(B) C.oceireraes

(@) K3BoHS

X
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86.

87.

88,

Ey

which among the followip, o
Ghahi period ? 8 Statements 4q correct with regard to the Muharram celebrations during the Qutub

A Muharram celebratj _
Langar m Ons were Intertwined wj Langar procession.
B. & €ans a golden ¢ with the grand Langar p

. hai .
Cc. Alamisplacedin buﬂdin;lfl;;::;‘facmred equal to the weight of an elephant.
Irpura.

ken j . . ‘
Choose the correct answer - Into pieces and distributed among the poor during Muharram
1) A,Band D
3 AandB (i) B,Cand D
HI5 ST SOOTE Inoio Srrges, éoa( ) BandD

J 0809 TP (HEbSOD HOHBOLBD.
BwrBo StHEen woKs &BAoHat éﬁ)éé:omgg) -
000 @I DHoH eos 2B EDAS DOMPES) W;DKD

A.
B.
C.  ©00 EHEHESEY o8 PS50 sosmton
D.

Soso SeoBe ROBYYOM™ & Borrsy Fentngs Soten Tr DD HoBaEo.
%0 2a7°e0 BP0

(1) A BXBXwD 2) B,C%8dmD
(

3) ASDBI»B @) B$BaoD

Consider the following statements :

A Kutuhala wrote ‘Lilavati’ in Sanskrit. :

B.  Itdescribes the marriage of Hala with Saka princess.

Which of the given statement(s) is/ are correct? N

(1) BothAandB (2)  Neither AnorB

() Aonly (4) - Bonly

&5 (808 argageR HOHBOSR :

A Sdriventd $08))B5ne® Derss’ D BOT.

B, & 55565 $Pend GnE) Jaersn B8 o508 8BNSeR D¥BoSDEOR.

2 Txpes® D6/ ¥I8() ?

() ABdSo B Botr (@) ASODBILr S

\ B’,e;‘k’”@l?;!b
B) AL @ mph
Identify the wrong pair : ® panchamukhalinga - Warangal
(1)  Chaturmukhalinga - Kaleshwaram @ Ekamukhalinga - Alampur
()  Sahasralinga - Pillalamarri
0 wg HBoSos @ Bo550edoKo - SBoKNS
(l) 5&)6}&3}&)01{0 - 956550 (4) g)ggma;@oﬁo - soors
@)  SERdoro - Hee® hich among the following places ?
T i ) ana aré ocated a;t)w lijtnur e 0“(I:LI)I gpf’:lsu-gonigudem
(1})19 ea;liest rock paintingS( ;;1 Tella;fﬂin gala (
anganonipalli oo ?
& 4
Boorrnst 59 oo DSSPTY D :3 @y o5 (&) BorrrGo
« &0
0 sonsosy = @ € [X] 25|  PTo.




tements with regard to Mecca Masjid in Hyderabad::
state

ion of mosque commenced in the year 1614 CE.
A.  The construcﬁ'o £ the mosque was initiated by Sultan Abdullah Qutub Shah.
B.  The construction©

b Shah in the year 1685 CE.
Abul Hasan Qutu
C.  Ttwascompleted by

Choose the correct answer : @ AandConly
(1) Aonly (4) BandConly

d Bonl
(B)éovgvz&@ c;»sy‘?, Lo8ye5% Howohow & Bob (B8FEI0B HoKBoSod.

>
A bk Soumo 1614 CE S (8050000,
B.
C

89. Consider the following

5565 emper Hdf p Sobes Joxeso (FPBPOT.
o o ™
omod 55 G 6 1685 CE S & TS,

8BS JLoograe)) SRS
1) ASrESD (2 ASBA» C e

(3) A%oBcSH BSwE (4) BoB0sw C D

90. Consider the following statements :
A, ABuddhist stupa found near Pashigoan village was built in Limestone.

B.  Kotilingala was an important Saivite centre during the early Satavahana period.
C In Phanigiri, the Mahastupa was built of bricks. -

D.  Kondapur was a political centre during the Satavahana period.

Which of the above statements are correct ? ey

(1) A ,CandD only () ~.B,CandD only

3) AandBonly | (4 = BandD only

& (BoB (B555EmeH SOKB0HD. NI

A 8o S5 acbe)ds G Ao S Tons® AG0sR0E.

B. &9 wdxdio sood, E60ome Sy 35 Eo.

C $BN0ED Sisinsisn aengos’ Deoumaon.

D. Borird Eririe seost ) Tresoth Soltso.
P DY B5SSE0S® DD ¥3KD 2

1) A CSBoi DSwE @ B,CBa% D Sm&h
(3) ABaNBSPESD 4 BoBci» DSw$Hh
91.  Arrange the following in a chronological order of their construction :
A.  Daru’sh-Shifa B.  Khudadad Mahal C. Husain Sagar -
Choose the correct answer :
(1) CBA 2 CAB 3 ABC 4 A,CB
Bod sd DQODI SSRGS OG04, ’
A 62 B wooes sups C  $odS s
BN Bsirgrsnds DoE Fabosm :
@ ¢BA @ CAB @ ABC @ Acs

ET
X
B e —— e T T
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93.

ET

Identify the incorrect pair :
(1) Sani-Munnurvurus =
2 Mahaja
((3; Bahnj;;;: - Brahmans living in agraharas
- Tradi
(4  Asamkhyatulu - Sa?v;?’iiiccii;e
JOEPR) 2385 OB oHHW. | k

Agricultural labour

;-
,((; ; %t 2§J§&m - S5 Erdew
23
* - s QR0 (EriTEed
(3) 2003 -
5§ whor ;) TgTE Heo
( 500 = B Jrerdoen

Mahalakshmi’ scheme of Telangana government is a women empowerment scheme. The eligible women are

provided:

A, Financial assistance of ¥ 2,500 per month.

B. frxl-sg education to girl students securing admissions in higher pro
ia.

fessional educational institutions of

C.  Gas cylinders at X 500
D.  Free Telangana Road Transport Corporation (TGRTC) bus travel across the state in express and palle
velugu buses.
Choose the correct answer :
(1) AandBonly ) Cand D only
(3) B,CandD only @ ABCandD
HM $SoErdrEeon ?

A o Bwr. 2,500/- @gé K&8ado.

B. g°88 638 H)8 I 60@@6‘5 ($S%o Dot

C  &». 500/-©8 M5 2908 wgks. <

D. Beorrn 8% Saeee K0 (TGRTC) $5%8) Q) BR; Senid axges® v Hodtr &I [Baire
RPEB50. 24

8BS JBSoegrdo DoH8%d :

(1) ABcH BERED

(3) B,C%0a%0 DS @
nomic Outlook-2023 of the Government of Telangana, which of the following

Scheme in Telangana is/are true ?
Jow poverty line (BPL) households in the state.

akh per household per year.

@ A C3000%0 DEr@D
A,B,C&8c D

As per the Telangana Socio-Eco
statements related to Aarogyasri
A.  The goal of this scheme is to assist the be ¥
B.  This scheme offers financial assistance upto Rs. 81

Choose the correct answer : Both A and B
() Neither AnorB 8 Aonly

3) Bonl 16

3) Bonly $0-2023, (85750 Boorrnd®d ebiid 5§08 Sowogod

Boorre ([Hg0EH Boorre Seget-egl S0

808 agpest D6/9D aly ?
A oogod® ooy Te Brd
B % S0 o8 Ginord8 S05HT

% (BPL) 99 giorrotd Fabo Tabhwo & Sgso @) oo,
4ov. 8 OFL BB Y Faho ©0&KR0B.

8BS SSorgrarR) oSS : 2 A 508050 BBotwe
(1) ASBc5»BBokr 529 2 A SlSaD
@) Bsmgd (
lz:l 27 P.T.O.

;_



95.

g n w® »

ana Internet of Things (IoT) policy, 2017 are :

The objectives of Telang :
A Toattract investments worth Rs. Ten Thousand Crores and generate direct employment to 50,000 people in
o attrac
the next 5 years.

B Create 4 zones eachin Medchal-Malkajgiri, Karimnagar and Mahabubnagar districts for deploying proof
of concepts (PoCs) in the IoT Space.

Choose the correct answer:

(1) BothAandB ) Neither A nor B () Aonly @) B only

Boorrs notd)s u§ §of) (I0T) dgedo 2017 OFF

A ot o todspres® $0 Jo 8 TPaPahe DEgRtHo 88050, FBake 50,000 o008 (DY
& s osKo.

B. epdde dwdes Sogre (PoCs) D8RS o) S-oemEnD, 8E0KKE, T talate) ae;:exﬁe, 2. 8%8)
DS et Soterei (zones) HEEIEO.

VS Jdrgrdo JoS5s%8 :

() AHOc»BOoE® () A0 BBoE® oy (@) ASHSD @) BSwe(ED

Match the following areas with their respective key pillar numbers of the Telangana’s Artificial Intelligence
Framework, 2020 :

Focus Areas Key Pillar
A Skilling and education j I 03
B. Governance, ethics and privacy IL 01
C. Research and innovation m 05
D. Enabling adoption and community collaboratiofl Iv. 02
V. 04
Choose the correct answer :
1) ALBILCV,DIV @ AIV,B-V,CI, DI
@) A-LBLCIV,DII @ AIV,BLCV,DII
' 3 R 9. N
: ZZ;?; 2@&0 sy (900582020 &8 B PBoHDES 8od ©ozoH FBE HowofodS Sure Qogre Boggs®
5% BN woTen om0 Sogres
Ddeagd SoB s D L 03
s, IBEE LB 55:;§é L 01
58855 DA eDBes m 05
LBBH ©B0308 00D DX $iegero v, 02
V. 04

$H0® 2352000 DOTHEoSw :
) A-LBIL C-V, DIV

@2  A-IV,B-V,CI,D-
3) AL B, CIV, D-II
7

@  A-IV,BLC-V,D-II

X




9.

Name of scheme
Aim/Object
A Haritha Haram / Objective

Financia] ass; en
B. Kalyana Lakshmj assistance Rs. 2500 for wom

I 16\Iutritious meal for lactating and pregnant womerl, and childrens below
years
C.  ArogyaLakshmi m g
) Inancial Assj ‘1 -
D. Mahalakshmi - ssistance for bride’s marriag

Increase Tree Cover to 33% of total Geographical area of the state
Choose the correct answer -

1) AJIV,BII,CI,DI
3 AILBILCIV,D1I

(2 A-I,BI,CIV, DI
@  A-IV,BI,CI DI

Boorrers® (808 HEseerdh e S vgso/ésé%oés RSHESS5

SgBo D o0/ &30
A FBE o L Sertos Gr. 2500 688 S0
B.  Seym ofy L 93 Sepen HbH ﬁaa)sg @e:o, 0805w 6 oSS TreB0E SENS Sady)
&d) dyodH @é@@m&)& ©0oB0HE0
C o8 08y O S50 DIER8 efE $35abo eoBoSo
D. Hfedy IV. oo 088 gaf‘ong::esf‘ o6 ) 33% I8 Voo
SO BEFGTRY oS Bakww : N &
@) AIV,BIILCIDI @ AJLBILCIV,DI
() ALBILCIV,DI QR WAEBILCL DI

Under which of the following Article/s of the Constitution of India the government is empowered to make special

provision for women and children ?

A Article 15 B. Article 65

Choose the correct answer :

§)) OOS; ; ‘: dB @ Neither A nor B
0 an

3) Aonl 4

) Aonly . im0 605 Bots (58080 FirEen HBuko e %o (BB dwove
B8 Teepgorfos®™ (Bod 2 @ '

ErroBOSER8 whsso 0N HOO £

@ B only

. B §86e0 6
A o580 15 o
S8 2sranido DoHEKoEm o A $06050 BBOE® 505
(1)  A%BcSn BBo&r B SFESD

*

0) A . @ =
4 |20  prg.

CY SR .




ments related to MGNREGA are true ?

‘ A n . - t
» A ch;:f t.he fiﬂo‘;“hzij:a liflelihood security in rural areas by providing at Jeast 100 days of guaran
aims to e

.1 a financial year- o o . coa
B ‘13:1‘ I')loytm enet:::e personal durable assets such as pucca homes for individual beneficiaries, road Is
. aims to cr ,

etc. _
C.  Under this scheme labour intensive works are preferred.

Choose the correct answer -
(1) AandConly @ ABandC
(3) AandBonly (4) -~ Band Conly
MGNREGA & $o20609 (808 ypgos® 0D iy ? O
A o sbE dosdsos® 8o 100 Sare a0 S SR wohoBto T (e&oes (FPOB°O
@

gE58% Doroboisto B OF- . s B

B &3KS ofmte 8%0 H87 fHFen, Bhcsy, Srenden InesTenHod S8HE, SRS ek PROSEo &
Q@

oggo.
C. & 880 8o (0 roldd S0 Do ard.
JBS esaen OB KoKW
@) ABS CIPED @ A B%BcnC
B) A0 BEPED (4) BB CEFSED

100. InJune 2024 which installment under PM-Kisan Samman Nidhi was released ?

@ 16" installment (2) 17% installment (3) 14t installment ~ (4) 15 installment
e 2024 & PM-8305 $5mS 05 80b I DS o Sahodod ?

teed wage

1) 163 958 @ 175 D58 @) 143 &S @ 155 &S
101. As per 2011 census, the percentage of Scheduled Tribes in India is :
(1) between10to11 2y between12to13
(3) below5 (4)  between8to9
2011 esege B (HSe80 FrEEBE0S° kg Briw &d0 08 ?
1 10 Hood 11 g @) 125008& 13 o5y
@) 55% (@) 808 9L
102. As per time use survey (January - December, 2019) conducted by the Ministry of Statisti
. ber; tics and Programme
Implementation, the percentage of females involved (in both 1 SN T . . &r X
by devotingabout 5 2 oR@per Al as: volved (in both rural and urban India) in unpaid domestic services
(1 60% b . @ 75% @) 70% @  80%
Kegeod 5000 D550 oo Ho@dime KPS o SDBPNE T8 (
= 8388 -~ &ows 5

390HBR i VIO E6% 8% 5 ote $5% $5000 BePanoB HEPHR B0 (BrSSSs 2015) e,

% sstges (Br0808") 208 40D 7 | 06" (rrloes o8

60% 75% 0
%\ i)B C,D,EF GandHarfzhe /b @ 7 8%
D 103. A, D,y sy ; Qembers of a family. A is theb i
p(// ﬁ@Ehasﬂxrqurand@ir_egan the o afamily. A is the brother of Band B is day

- : ghter of C. D fA

R e T 30 corin.] y grand-daughter of E. Fis daughter-in- . Dis father of A-

7\ 4}; @?s\% framﬂehtzalt}c)l(s; s?on in-law of D. In the family, 7 the number of ma&es is same as mifa;:’lOf Cand G is unmarried it
o

Q mber of females, then hoW
& Grandfath . W\ , then how
n (Al) C Dr Fji fpa Ge:»r B H(ze») ;v[ goaﬂ‘e::er-m'law (3)  Father-in-law @/ G ;‘z '_
J&é/ 4 E’élj’ﬁe; :»m:zsa Soosoen / &::530’ cgoésa Refgen: B @t MEHED A Hodati C Sy §>r<‘§3°6 e
' 5 OEOSE® B g8 Sososiooren. C & S B. A &) sol&D-
B D Go), et H. & Senogposs < 8 &) 8%en B ), Sol¢

B e
B Bogg, eiard Hogy I 02088 G & Dapird?
@) oo @ ogmg o7y, & Dogyg SSreso >

(@) ErErr e:’:’é’ G® Edd emzs ?
TP sy
ET X
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105.

ET

The organizer H of a gathering invited five guests P, Q R, SandT. Tisthe Chief guest of the meeting. All these
Black, Blue, Green, Red and White are the colors of the

5 guests sat on the chairs which are on the left side of H.
t chairs and it is of White color. The guests Pand Q did not

chairs. The Chief guest T sat in the middle of five gues
sit in Black chair. Q sat in the middle chair of the farthest three chairs to H and the middle chair of the three

chairs is of Blue color.
If the nearest chair to H is of red color and S sat in it, then the (guest, chair) combinations are
(1) (P, White), (Q Black), (R, Red), (S, Green), (T, Blue)
@)  (P,Blue), (Q White), (S, Red), (R, Green), (T, Black)
3) (P, Blue), (Q Green), (R, Black), (S, Red), (T, White) / i
(@  (P,Black), (Q Red), (R, Green), (S, Blue), (T, White)
;&gaiiﬁz:?a;;mjﬁi :@ti);» P,Q, R, S 0ckn T ok $6808 €0l edkdosm, H & DELHBHD 65) 5
S resi e')ess = 66-8" Ta’miapg ©88. H)en Sevd, doo, e, Doy S0 Bewy Borbd. Loz
e 1 é;)w $S° &) Bendy Bord 88 Brbpamd. o8¢ P S50 Q en S Gorb Cole)on

Sorr &) ot HSE® Sy TR Q ErdyT. HE B &%) St HGS® St ‘

&) doo Bordb.
H % o8558 68 35

1 o ), 58y QY Bordd eow S S Eriyo8, eJpt (088, &8y © SoFrrisven :
@  (P,0), (Q BoR), (S, 20I), (R, e%BS)), (T, Se0d)
@) (P, Do), (Q sHD)), (R, 3009), (5, D5D), (T, BenDd)
@ (@ 329) (Q AED), (R, sB3%)), (S, He0), (T, Bend)
A statement followed by two courses of action are given below. Identify which of the courses of action to follow to |
address the problem in the statement. |

Statement: Recent reports show that eating hot food in plastic plates is cau

and leading to cancer in many cases.
The Government should ban the industries manufacturing these kind of plates

immediately.
IL We have to bring awareness among
usage of plasticin the daily life.

n follow for the problem stated above ?
(2 None of I, II follow ,

(3) Onlyl follows @4 Only II follows
Bots .8 ($S5880 3088 Bo® HosbaeO)S SEEED BDGPTTOD. (B850 $B0g SO O SEgew

BB RO
BHSt0: 8 G SOyS 036
e 260650'306‘5 5°0)
L s BEDS a’aégvzé) Baodoe
“Oégég)éoé‘s DSEeaBErEOT &
@’)aae)é‘s BT g)om°d-

0 95000 T°® ?

sing stomach related diseases

Course of action: L
the people about the consequences of the irrational

Which course of actio!
(1) Bothl and II follows

e 3«3?85 é@goé‘s 58 3360 B30 Sy S8 $0808S THOD SeBeIeE0SR,

5% Qéwaﬁréﬂé)agcﬁa@ BendoTT)ow.
Stsgen: % B $OESP HadS0 hgo DoTd.
I 48 DOEPNOBEO JeeeS B80T HBeFErOD Jooodod

2 aoxsy HOAPVE o S8
m I SoBcso e Bo®Hd e ZoBoTeO

@) 5@ Prestoleludy

@) 1o8all 06® 399 ©N00IY
@ e o0oTd

@ 31 P.T.O.




trong to support

, : is/ares
106. A statement followed by two arguments are given below. Identify which of the ar guments is/ar

th " o ot sion, to embed
S;::lart\i?f-nt In the present day scenario it is necessary for a teacher, to excel in his profes

. technolljogy in classroom teaching to enliven the classroom activity- duses st Jents but also
Arguments: L Yes. Using technology in the classroom teaching not only en tt1115 > dents can better
. L s one. can make some difficult abstract concepts visual so that the

derstand concepts. . . cial burden on th
I ule) e{“ile use of technology in classroom teaching puts Jot of financial ne
Ch students.
00se ¢ 1 H E.

@ on(i;,rflc itsoslz:;:g 2)  Bothland Ilare notstrong
(3)  BothIand Ilarestrong (4)  Onlylisstrong issen B @‘35 08D

107.

ET

Boss a8 ©5Ss0 3350&)3 Bot TEHen BRYWETOD. [BHSSTR K)éagoé)éoés o3

1HB0N0k,

B5850: (s sokes 03008 |

0.8 aPGRsointd 85 $BE° TBoDHEE 51916 50
&0 @G0, ST S5K8 K08 B85S dhore S0l FBodhiriod.
TS L e, 868 (06" 6E PoBBEED ko S0 Dodl ST
&) EBIZD s grdso EE)Ewotd ©QBOSHWRY Sooe D
$808 gore ©Y0 Boetreped.
L &, 618 re6® &5 oB88E0 oSt dorgheR @gé:m;gé g8
$BS SR dy8ol. ,
1)  ISeED poPod 6D @ 1506’ D aod ST =D

(B) 1500050 I e Do BOF >SS0 @) I'éﬁ@éﬂp@@é EVInDy

The six faces of a cube are labelled with numbers 1,2, 3, 4,5 and 6.
The cube is opened in two different ways and the two positions look like:

Ql@oé(ﬁﬁ: o8 ém"&m
a°§(53€0 & PO
® .

o H&od.

3 » | 2
1|5 6 5
4 3.

Then the numbers on the faces adjacent to ihe face numbéred 2 are:
1) 1,4,5,6 _ () 1,2,5,6 ®) 1435 w1 3_ 6
& g G € Sopre B Bomen 1,2,3, 4,5 000 60 SwGoTD.

o ;;D;;og)&aoéa dorenre BEI © Bokr & ore EDITHOW.

3 2
HERRUEE
4 | 3
i 28 SFERBS w0 @8 ey '
&mvoa K A .
) L456 @ 1255 = e()e,;o 0%31031'3 5

(4) 1, 3,‘ 5, 6

X




oint Q. From
108. A person started at a point P, moved a distance of 60 meters towards Eas‘t an;j rei;ht?rcri‘ eaapnd ﬁn(glly e }% 3&&,
travelling successively 50 meters, 100 meters and 90 meters by turning to his Jeft ea ik ,

point R. What is the distance from P to R and the direction of P fmm R?

0 v
) —\/?, South-East 2) 40, West
3) 40, North-West " VR
i; 58 Pe:ﬁ & c:@ S0l g Ok North;Eaztb:a& BBy Qs i
° 58 6 2
ol Q & HothHo BBV $rdy) BD o (SsrBoD R Dothrddo Bord.

50 e, 100 DtKy, 90 Dototsy TS (56 H0 wsd i P 8V
P 508 R Ko &r80, R 508 P o) B B5HEE08.

40
W 7z ehavo @) 40, 5550

109. A statement followed by three conclusions are given below. Decide which of the conclusion(s) follow from the

statement.
bers, three candidates A, B and C contest

Statement: For the post of president, of a club having 40,000 mem
elections. In the election all the members took part with no invalid votes. A gets 3,000 votes
more than that of B, B gets 1,000 votes less than C and C gets 2,000 less votes than A.
Conclusions: L A won the election. ,

I.  BandC together could get —:- of total votes.

I 15,000 votes went m Ea‘goﬁr of A.

Which of the following is true ?
(1) Noneof],ITand I is true
(2 OnlyIlistrue

(3)  Onlylandlare true

(4)  Allthethreel, Iland ]Il are true T4
Bo&s a8 (HSSS0 3% Bod Swrdd SoAoen BTN, BN (DISS0 Kol S0foHen ©BG

dBonozed.

3 : S % 98558 HEDE BIHHK) ANESS

(HSSS0 : 40,000 008 5505003 2.8 E %{ 0 OYEE® 501585 e
Cen DB BLoHamtd. & IYEE Rgge0tEr PSSEHE 3 8,43 aézséiéiég pr
A5 BES) 3,000 8,63 SE5 T CEHBE 1,0008¢y S R X i . [0S’
SENSM HeTz)ow. A} 2,000 8.8

Sofogen: L IRYES AROTD.

5
I B8k Cogor SO0 080 88" 3 P H0B Ley Jopo g,

M 1500066y A% @S8rO0T S0

Bod &St D6 Jeo ?

1) 1, T5o8cso M es® Db Jeso °)
Q) IS deso

@)  I5Bcso I SmED Deso

@) 1 IIoBc%o MIeo o D80

! [33  PTO.
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110. A statement followed by two assumptions are given below. Decide which assumptions follow from the Statelnent

Statement : To make a trip to Ooty on gth May, John decides to book railway tickets well in advance in the
month of March itself.

Assumptions: L Railway reservations can be made two months in advance to avoid last minute Tush,
IL John can book a ticket of any desired class, as there will be more vacancies.

(1)  Only Iis implicit (2)  Only Il is implicit

(3)  BothIand IIare implicit (4) - None of I and Il implicit

8o 2.8 (%880 D Both esten agerron. TS D (HHSKo Hod LD DBooed.

BESS0: o8 oI $B8 D Jo 98 SredHotns) ed BSH grer S0k S8y I0&°3 BB B3 e
B8 el DYoo EHTHNLD.
&Feo: L 0%0 Do G oS ETRE Boh Bve EwotHred Beo Baky w08 BHrESssy,
I oo grdenodtro Sureore oS $ 5‘36)&26& 0% $o20HoDS B8e5Es a8 3“@%’55%,
(1) I59SDH a0 &od (2 TIHrSED 208 sod

) 10cnITew Bokr ado& eTnom  (4) 150005 [Leod D8 a8 8%

111.  Whatis the order of the following five words as per dictionary order ?
A IDENTIFY B.  IDENTICAL - C  IDEA
D.  IDENTITY E. IDEN'IFICAHON "
Choose the correct answer :
1 CEBAD @ CEABD 3 GCB.ADE S‘l)/— C,.B., E,A,D
Bob 0 Soro EnY) oo (EHHe ? .
A.  IDENTIFY B.  IDENTICAL C. IDEA
D.  IDENTITY : E.  IDENTIFICATION

(Bod TBE® BBwonS I Aiins®ol,

0 FKEa @ GCEABD B) CB,AD,E 4 GCB,EA,D
112. If Ayushi says, “Payal’

s father Raghav is the only son of my father-in-
the sister of Payal, rela

law Manohay” th . Priva. who's
ted to Manohar's wife Rani ? » then how is Priya,
(1) Daughter-in-law (2 Grand-daughter

(@) Niece (4) Daughter

o BPHTBS DFEE DT osoetsy

% TS, PaRS T Fo@ ©1 wainy It < @b
5’33556/3°5 @“688 T8 HYW ©H&H08 ? [ ) 1V, FSHS QLB o (o .

@) G @ sososoceen

(4)7 &)

X

(B) PSR/ RS0 Emetotsy

ET
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; ; i ing V. Vis to the
113. Six persons U, v, v, X,Yand 7z itti d a circular table facing the centre. Uis fa?mg . ;
immediate right of Y anq to the ini;ees;iaﬂtzflgeafltr glfl;lv W is to the immediate left of X. Z is to the medlate . lghtlc():
U. IfY exchanges his seat With V; X and Z after inte.rchanging their seats turned 180° and sat by facing their bac

to the centre of the table, then who js sitting to the immediate left of X ?

@ ¥ @ u @ VvV )

8 TSEH 08 Soeg Jorismmon s S50 U, V, W, X, Y 50805 Z en Srtomtd. V& edsopor U

T, Y & HABHS SesoBoes3 BB W 6 SoBes BHBowd V aTms. X & dESHBHE 3%B00dS W

A7, U D835 3980653 7 eyt BSpt Y S0t V en 55360 50 Frredh Srik, X 505 Z

@ &0 FIrodH H8H50 DIENOK) Soos 180° BOA a6 DY grifo BolEePLwmore sodeyre 5’5%5%9“%’
&

X

S X JEBFHS 35Bowd 25 SN ? O
M Y @ U @ v @ X e oK
YL F
114. Two statements are given below. With reference to cause and effect relationship how these two statentents are

related ? N

Statement I : Last year more than twelve lakh students applied for JEE Mains who aspire for getting
admission into IITs for a total of 17,000 seats available.

Statement II : There is a great demand for the courses in IITs which impart very high quality technical
education to the students.

Which of the following is correct ?

(1)  IandIIare effects of two independent causes -
(@  IandIIare effects of same cause '
(3)  ILis the cause and I is its effect

(4) [Iisthe cause and Il is its effect

(808 BotH (HSeSTeen aasoga)zzgon 508800, (DgrHoe cse)%;g & Botd O FFD éoeaomv&)& %08 aTow ?
BSSSoI: NTed® Ko 17,000 S Mo (B30 FrosmB K Rogyso JEE an§id $F0td ofe e
Dergtaen SBFRY BBoBHTN.
BSSS0 IT': Dogthesd oS08 TPrgEds oS8y DS S0B0BK0S® MTesds) 5o Tror B5roE @b,
Bod =8&° D& $38d ?
(1) Bod P sebere Bw) (Hgrard 15065 II
(2 23 seBerd8 $0@0HoDS (Herard [ B IT
B oS0 sere oed (Herssd I
@) IseSeso sere ool (Hgrsdad 11

1, Find the missing number in the following series:

3,14,39, 84,155, _2_,399
256

(1) 258 @ 259 @) @ 257

808 FB6® 82005 Bomgtn EE%08.

3,14,39,84, 155, _2 , 399 i o

() 258 2 259 @ 257

[35] P.T.0.
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questiorls : (116 -117)

mbers pers in five health clubs p
Q

r the
and male mem

Read th i
e followmg charts carefully and answ€
The followi i Vi )
wing Pie charts re eals the information pertan' ing to b i

R .
,Sand T in the year 2021.

The distributi

Pie charttr llbunqn of total number of me

membe : Whlle the distribution of total num
rs is given in Pie chart 2.

a total of 6500 members is giy
en j

in 2021 out of
bs in 2021 outof a total of 3400

e health clubs
five health clu

mbers in fiv
mbers in

per of male me

Tot v
al 6500 Total 3400 = \
oo 34%
. e/ Q
Q\
Pie chart 1 Pie chart 2

116. Theh
ealth i S
o Ia) clubs having more female members than maléﬁiembers are
T |
, @ RT 18
0 4 R,S

femal i
ale members and y is the number of members of a club

117. Ifxisth mbers of a club having mmimum
e number of membe g
: : 1 . o
having maximum numbers of males, then (y — x) is

@ 1
250 (2 1430 (3) ~ 1560
@) 2030

Bod Heren
2021 =i 509 BHIQEUITTLYPREE RS Dos
Bo5BBoE® 0iH TS o
g
e DSBFcw. S SoB5 P, Q, R, S5086i0 T 060 Swdo $gb5e0 08050
= 9B Bghge DS
. o Bod P’ (Pie

2021 &° Iwgo B8
S 500 6500 ©&° @ 3
4 A 0305 é St
SmFo HLHA Hghgen 34006° wth § Y aj%)o?s R Jgige Sogge Ddoro P’ (Pi
2% DB Jogge DSTre W’ (Pi ;.2 (Pie) &0 1 Srs)eod sere 20218
= ®’ (Pie) DGo 2 Lo
4 Dood.

32080 6500 33068
30 3400
q?\o Q 34%
N
2 Aol 2
P DO 2

116. v S A
HBoR, Hah5oE0B, DERY Ve JEYSTE &y TG Ko
@ PRT TR
@ RT S
@) QR
@ RS

ET
X
36




m Ko a8 gan@é"s&) Swdo Kby Sogg x ), Hosoen Kéo“eqom ey ot éas-@gg) S0 80

o Boms EIZO

| 117 B0
‘ oy y ©9E08, (=) =
| ) 1250 (2 1430 @) 1560 @) 2030
}! 118, Calender of which of the following years, exactly match with the calendar of the year 2026 ?
(1) 2037 2 2031 @) 2039 W4) 2038
80b B D Hoddo ENY) S3BoEs SO 2026 Sos5H SSBoBE” D08 ?
) 2037 2 2031 (3 2039 (4) 2038
19. A solid cube of each side 8 cm is painted with red, blue and black colours such that each pair of opposite faces
have same colour. The cube is then cut into cubical blocks of each side 2 cm. Thenhow many small cubes have
atleast two faces painted ?
a 48 2 32 3 16 @4 56
&) a8 =8 Sogrop &8 Bord aodegme B, Seo
8. @R

8 20.8. ghasore Ko 2.8 % $o508D, DBIBLBOM
o SHTs-© HoJ0

£805 Se0sh BorHes® Sord BNB.
29 O%) oo EdSo Bod Spgrep Sorb Sched ©otod ?
@ 16 @ 56

1 48 @ 32
In a code language MODERATE is coded as (@)

<5 2200, 8. ghesorre Ko D) Forrere £8009

RHJXHBN. In the same code language which

120.

BONTER?

(1) ZLJOYK 2) ZRJYKK (3" DRRYKY @)  DLROKY

2% S8 gris® MODERATE & ORHIXHBN - 6 390 o0 &6® © $fo BONTER ™ g5E ScontoBod ?

1) ZLJOYK @ ZRYKK = - O DRRYKY @) DLROKY
121. Read the following Assertion A and ReasonR.

Assertion A: If x, y and p be distinct real numbers satisfying (p — )P~ y) > 0 then p lies in between x and

Y.
ReasonR: Product of two numbers of same sign is always positive.

Choose the correct answer :
(1) Aisfalse, Ristrue.

() BothA and R are false.
() Adistrue, R is true and R is the correct explanation of A.

4) Aistrue Ristrue and R is not the correct explanation of A.

word is coded as

Bod ESe A, ooies0 R 00 S8506.
% Vo) ©ONE SHH ¥ L0050 Yo

Mysgo A: (P~ x)(p-y)> 00 e‘éfgé@?ﬁ Disore x, y SHBA p ev DY) TR
{»ég p &OotNOB.
S8moR: a8 e Botd dogge ©Q0 DeRpir L.

8B 23penisd DOHE" :

1)  Aeddo, RS0

()  ABasw R en BoEr ©XE50.

B) Ao, R 580 H08dsn A% RIBY 25660 ©HB0B.

B A, R85 S0at> A& RHTS 56 S

) x
. 37
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122,

123.

ET

What is the term that fits in the blank space in following letter series ?

PZN,KGL, GMJ, DRH, ?

1)  AVF (é . BVF (3)  BUF @) AVG
808 oFS BB g o> Frood Do DB ?

PZN, KGL, GMJ, DRH, ? _

(1) AVF 2) BVF @ BUF - 4) AVG

The 1% January of an year X of 20th century is SUN DAY and 15t March of the same year is WEDNESDAY.
In the same cen'tury, for an year Y, the 315t December 3§7$ATURDAY and 15tJanuary is FRIDAY.

If D, is the day of 315t December of o | Qudl

D, is the day of 15t March of year Y, then (D;, D,) = /

()  (SUNDAY,SUNDAY) ()  (SUNDAY, TUESDAY)

(3  (THURSDAY,FRIDAY) @  (MONDAY, WEDNESDAY)

1208 SEens® e osEBo X&) 255815 B8 wbdardo s wf D05&8H $°8) 18 BB entSarso ©onod.

o8 $2°g8% o ROBEBO Y & Somodod) &020% 315 88 ¥daes0 ST, 23350 18 385 HBETE0 ©a0d.

X 8058)806% BR02 31 % STy e D, &)
Y $058)506° 5r8) 158 53 689 D, ©0%08, (D, D) =

1)  (sdarBo, sdz50) 2 (sB38o, Soorgarso)

B) (B0, HETS0) @  (RFarSo, ensarso)

X

38
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2 ead the following data carefully and answer the questions : (124 -125)

he following table shows the number of students attended for campus recruitment interviews from four colleggs A,B,
cand D. The percentage of students selected for the jobs from each college in the years 2021, 2022, 2023 are also given:

ﬁ A B C D J
| | Year Szle:\is % Stljg of % No. of % SEZ of %
! i Selected ents Students d ents lected
| Appeared Appeared Selected Appearsd Selecte Appeared Selecte
' —"] g
2021|2000 39% 2020 35% 2200 33% 2900 31%
/ﬁ_\
1850 28% 2100 43% 2500 42% 2700 34%
33% 1900 46% 2550 30% 3000 35%

All the colleges put together average number of students selected in the year 2022 (approximately) is :
(1) 968 @ 1050 @) 1250 | @ 847

The college and the maximum number of students selected in that year in which A witnessed maximum number

of rejections are : ' >
1)  (C,765) B) (C,1785) @)
8o a@)d Saromd) eriige SO (BHeo (124-125) 0 BE AT

125.
@  (D,1050) (B, 1026)

A, B, C %0805 D 03 Sgraree $H08 @°oﬁea 'K_}CSJ%SJ?@ Soogrsind8 582985 &)m‘gége) Qoggd (Bod t.’)%é BrHob.
2021, 2022, 2023 Bo5HeS® aEreS (H8 Bevaro Kol IYTD D580 TR ErTe BIKEFRG ©

A B C D \
e3BS 3B O TON ES IO
Sos8)50 DB DB B B
Smgtége) 8)::5';36@30 > 8)!336(3&) Q 63@3
0 BB0 0 TS0 0 o 0 TS0
oz Sog Sogy oy
2021 | 2000 39% | 2020 | 35% | 2200 | 33% | 2900 \ 31% \
2022 1850 28% | 2100 | 43% | 2500 | 42% | 2700 \ 34% \
2023 | 2200 33% | 1900 | 46% | 2550 | 30% | 3000 \ 35% \

124, o) Sgearooi 02 2022 ‘éoa’oé“)éo@s ARYBS Aegtge Jogge [rfen (sepomosyre) «

1) 968 2) 1050 @) 1250 @)

847

125, Seraro A& 1oy Somgd® AooEBOSWES DERge> S8 SFRY So&Bos® & Sgomees 10§ Sopge® gy
Y8’ & Bgeare DB & K08 dogg o6 ?

D) (C765) 2) (D,1050) @) (C1785) @  (B,1026)
4 X 2N

’
-_—



tions. ( d
the ques s of Brands
and answer s of car
Sl'lldy the following graph Care;lujata of the number of user 508,
e fOllowing bar graph gives the

en (3 238358
126-127) % T Q) & 8o =5 Agos” 553
S 808 iy g 508000 B ( g aisso T8 BEO

gsre S°2
P.QrR, S $580%0 T $Kre® A 500D B &S

A and Bin five citiesP,Q,R,S angy

[:]Brand/ oS B
Brand/gro& A
3
@
B I T
% XIS
eoe| N
3000 T- E (xxs
w0+ [ i
E g i
2000 + ::E S = ooe
oo S oo
1500 - e el
1000 coe 5
| 8 :
S0 - B | R %
oed oee e 's&
0 P Q 4 -
Cities/Stfoverny
126. Average number of cars of Brand B is less than the average number of cars of Brand A by :
lrd
@ 3 of the sum of the number of cars of two Brands A and B in city S.
1th
) 5 of the sum of the number of cars of both Brands in city P.
1th
) N of the difference of carg of two Brands in city Q

@) 360 Q &° Boto (@rogg S°G Sogg Hesoest ®an&ES0
(@) 160 TS EroB A 070l Bovts sogge 50t oo

T X m
M

® SSwso,




A cars of city T mi ate to ci th i
ty 8T ty Q, then by how much percent the Brand A cars i

Y2

128

of the owners of Brand

g,clifse in city Q7
@ (@ 38% B A% @ 50%
2,:: oz e;% (o A 5°8 Froserioed® 10% :»c@ S50 Q 8 SORE, $KBo Q& [@rok A 8y dod o
M 25% 2 38% (@) 45% L@ 50%
gt e e e
all the cor}clusions and then decide which of the given conclusions Jogically follow from tﬂ:n S fttttnlfeatds
disregarding commonly known facts. : given s en
Statements : Some cats are dogs.
All dbgs are ﬁgers. ‘ ‘ |
Some tigers arerats. \-
) All rats are snakes. n
Condusions: L Sbme tigers al'é‘(iQ 5 ° /
_ o
m
IV. Some tigers _are‘ 5
Choose the correct answer: 4
e Only I, Tand IV follow A D Only I, M and IV follow -
@) OnlyIland I follow E £ ..° @. Only Iand IV follow
Bod BHS° oo (BE0Se0, SoFETL, 11, II1 508350 veost éﬁ,&é ety SoA0RDLD BRYPTTAX- 2Oy [@BLSD
Sogrisesore BORS TR © o 598008558 & DB worBosok. SpA0DONOB SOV, DogrseacT™
2 2 (B8 B008 O SoRoDeD gOgor 9500 BOP° togonoeso&,.

3005 el YOO
£°Q) degen BEen.

(HBeSen :
o) é)é&é» Heoen.
£°Q) een awéeﬁ.
) deten oo0en. -
&R $9eoed B0
L ey Heves DR |
I R beged dP
IV. §°&2)_ Geven S0
KB5S asaee0iso DOSDE LW : |
(1) 150k IVes seigh ek @ I TIS00 IV e SmEaD VBTN
[ 500050 TV 00 SP(ED> @ddTon

B)  Msoboso e Sr@ah @oboToP @

x| -
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A with the correct Articles from Column - B.
AW

i oy olumn-B
129.  Fill in the blanks in the following sentences in Colum ; e
L o
Column- A

A. apple a day keeps the doctor - 1 this new topic. I S ‘
B.  The professor developed syllabus © Mm a ‘\
C This is best day of my lfe; {fee in the morning,. iV, e |
D.  Suhasini prefers drinking i

. iven below :
Choose the correct answer from the options gIVert A-IV, B-1, C-1I, D-III ‘
1)  AJLBICII DIV @ A=t

A-II, B"m; C'IVr D-1
(3)  AdLBIV,CAI DI @

ce.
130. Choose the correct options to complete the senten

The admission form gave Sujata the choice to select
wanted a B.A. Degree. '
(1)  either,or (2) neither, but (3)  neither, nor (G))

History, Political Science if she
either, and

131.  Arrange the sentences in the correct order to form a coherent paragraph.
A.  Mayor decided to visit his grandparents in the village for the weekend. ’
B.  They spent the rest of the weekend catching up and enjoying each other’s company. .
C.  OnSaturday morning, he boarded a train and enjoyed the scenic journey through the country side.
D.  Uponarriving, he was welcomed with a warm hug and a delicious homemade meal.

Choose the correct sequence : =

1) ABDC @ ACBD (3 AGCDB @ A,BCD
132.  Arrange the sentences in the correct order to form a coherent paragraph.
A.  Inthe morning, people gather outside to celebrate by playfully throwing colours at one another, filling the
air with joy and laughter.
B.  For celebrating the festival of Holi, families begin purchasing vibrant coloured powders a few days ahead.
(4 fAs the day ends, everyone comes together for a festive meal, enjoying the renewed bonds of friendship and
amily. '
D. The celebration continues with music,

dance and the sharing of traditional sweets like Gujiya.

Choose the correct option : o
(3 BADC 2 ABDC ® AB,CD @)
133. Choose the correct option to fill in the blank:

B/ A, C, D

that there were games and music, I would have gone to the get-together party last night. |

(1) Ihadknow - (@ HadIknew- }

(3) Ihad known (49 HadIknown
134. Choose the correct option to fill in the blank.

After the heavy rain and thunderstorm, there was they could set up their camp. |

(1)  everwhere (2  anywhere (3) nowhere- 4)  everywhere |
135. Choose the most appropriate Synonym of the underlined word. ‘

In po]ji.:ics itis not uncommon to make every attempt to subvert the opponent's party.

(1)  improve (2  uphold (3)  support (@)  debase [

, i

ET ' ' x 42
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when she saw the ice-cream cart turning

136-

137.

138.

139.

140.

41,

g,

N

ot liely Straey

child’s eyes Lt
3 up, into
( )/ 1 (1) ’ up

The
) over, down (2) outover
Choose the correct option to fill in the blanks in the following sentence.
preryone Nithya's spirit of competitiveness, sheisalwaysreadyto __ part;
h N spoy

0 2dmiring, taking (2) haveadmired, have taken =
) admires, take 4)  admire take
gelect the correct option to £ill in the blanks.
The striking employees resorted slogan shouting to draw media attention their agitation.
@ toto @ by for (3) at from (4 from, against
Identify the correct sequence of the following jumbled sentences, which are marked P, Q R and S, to form 2
meaningful paragraph.
| 23 Box breathing is the most recent regime. 'S
Q. Stressand anxiety are byproducts of m [ay li :
R. It functions as a cleanse, calming the nerves ancT returns the hyper—ventilating rate to normal.
S. People try every trick in the book to overcome thJsthreat, including yoga, meditation, exercises and breathing

techniques. )
Choose the correct option: ,,

@ SRPQ @ QPSR '@ PRS Q
below :

n Q S, PR
on of the following sentence in passive voice from the options given

Identify the correct transformati

‘We pass an electric current across the electrodes.’

d across the electrodes.

(1 An electric current is passe
(2 An electric current was passed across the electrodes by them.
d across an electric current.

The electrodes were passe
passed across the electrodes.

®)
@)

Fill in the blank in the following sente
g a prototype scale model, simulation,

Engineers, usin,
to ensure that products will perform as expected.
2 will have attempted

An electric current is being
om the options given below.

nce with the correct verb form fr
destructive test, nondestructive test, or stress test
4

(1)  hasattempted
“ attempt

(3) attempts
in the plank in the following sentence.

Choose the correct option to fill
uestions Of make observations after the presentations wer d
e made.

Wanted to/ Could aSk q
2 ver (3) »V ll( )e
( ) Wllene ver (4)/ Whi

() However

X
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X low to form meaningful words.
143, Choose the correct prefixes that match the words given be

Prefix Word
A counter- L pollution
B. anti- 1L measure
L6 dis- M.  functional
D.  un- IV. prove
E. dys- V. screw

Choose the correct answer :

(1)  AILBLCIV,D-V,EI @  AIVBLCV,D-ILEM

)  A-ILBIV,CIDJILEV 4

A-IT, B-II, C-I, DIV, E-V

144.

145.  Choose the correct form of the adjective to fill in the blank in the following sentence.
This is the meal I have ever eaten.
(1/) worst @  moreworse 3) bad

@  worse
146. Fill in the blanks with appropriate Articles -

He saw one-eyed man and

old woman in his dream
1 aa @

4, an 3 ana

@  an, an
147. Change the following sentence to Teported speech :

He said to me, “I will call you tomorrqw," |
) He said that he will caJ) me the r;ext day.

@) He said that he woy)q call me the next day,
3) He said that he would call me tomorrow,

(4) Hesaid thathe will q) me tomorrgy,

ET X] |
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Read the following passage carefully and answer the questions (148 to 150) that follow :

Snow leopards live high in the Himalayas - one of the least forgiving enyirong\epts and amo
places to study - making our critical efforts to assess their population incredibly difficult. For?un
in India completed the first-ever rigorous examination of the country’s snow leopard population,
these iconic big cats live within the country’s borders.

Findings in the Snow Leopard Population Assessment will contribute to understanding ?rt‘ﬁwfﬁsotp:;i?ti?:gtz
and the importance of their high-altitude habits. India joins Bhutan and Mgngoha as qne o p € i p——
establish their snow leopard population. India’s large-scale assessment was highly intensive an rct;:qof E ofos
over 10 million acres of the habitat and deploying about 2,000 camera traps that produced thousands ot p :

“India’s study marks a leap forward, not just for the 718 majestic cats counted, but for conservahor:i ﬁs}hif;] asa;;i1
Dechen Dorji, senior director for Asia, Wildlife Conservation. “This landmark effort, spanning vast and rugge. tific ri yor
terrain, provides crucial data to guide their protection. It's a triumph of collaboration, perseverance, and sc1e:1 ilC ;lt% ne’
offering immense hope for safeguarding this elusive protector of the High Himalayas. It mar REANIGP or”’can e
in our collective efforts to ensure their survival and that their landscapes thrive for generations to come.

ng the most challenging
ately, skilled scientists
estimating that 718 of

148.  After reading the passage, consider the following statements :

Assertion (A): India’s snow leopards’ study is considered a landmark effort.
Reason (R): The study was the first-ever rigorous examination of snow leopard populations in India and
completed successfully.

4

Choose the correct option :

(1)  Assertion s true, but Reason is false

(2)  Assertionis false, but Reason is true

3) Both Assertion and Reason are true, and the Reason is the correct explanation for the Assertion.

(9  Both Assertion and Reason are true, but the Reason is not the correct explanation for the Assertion.

149. After reading the passage, consider the following statements :

Assertion (A): India’s assessment of the snow leopard population involved surveying over 10 million acres
of habitat and using about 2,000 camera traps.
Reason (R): The assessment was completed by scientists from Bhutan and Mongolia.

Choose the correct opﬁon :

(1)  Assertionis true, but Reason is false.

) Assertion is false, but Reason is true. ‘

(3)  Both Assertion and Reason are true, and the Reason is the correct explanation for the Assertion.

(4) Both Assertion and Reason are true, but the Reason is not the correct explanation for the Assertion.

150. After reading the passage, consider the following statements :
A.  Thestudy estimated that 718 snow leopards live within India’s borders.
B. The snow leopard population Assessmentinvolved rigorous examination methods.
C India is the first country to establish their snow leopard populations.

The assessment focused solely on studying snow leopards in lowland areas.

D.
Which of the above statement(s) is/are correct ?
a AB andConly (2 AB,CandD 3 Aonly @ AandBon
-00o0- \.
N\

N

£ X P.T.0.

yr



